uUS Locking Assemblies &
. o Locking Elements

a\ -
2

Partner for perf
wv?‘vgri:gefgdecr.)!oneer ormance Q/ RINGFEDER



The RINGFEDER POWER TRANSMISSION
GMBH was founded in 1922 efeld, Germany
to fabricate and pro ing technol-
ogy. Today we h rings to
op power trans oroducts.
ovative thinki
Op progressi
ort our custome

s o







-2 1

Locking Assemblies

Overview Page 6

Characteristics Page 8

RINGFEDER® RfN 7012-IN/7012 Page 10
RINGFEDER® RfN 7013.0-IN/7013.0 Page 14
RINGFEDER® RfN 7013.1-IN/7013.1coooeorerssescmmssssnneeeessssssss Page 18
RINGFEDER® RfN 7014 Page 22
RINGFEDER® RfN 7015.0 Page 24

RINGFEDER® RfN 7015.1 Page 26
Locking Assemblies for
Bending Moments

Overview Page 28
RINGFEDER® RfN 7012.2 Page 30
RINGFEDER® RfN 7015.0/RfN 7015.1 ...occuummmmmmsssssssssesssseseenes Page 32
Locking Elements

Overview Page 34
Characteristics Page 36

RINGFEDER® RfN 8006/GSA

All technical details and informati_c;ﬁj no as a
legal claims. The user is obligat(_a'd". - ted products
meet his requirements. We reserve i odifications in

the interests of technical progre_séﬂ ) SU previous bro-

chures and questionnaires on the pr isplaye alid.



Locking Assemblies

Overview Page 44
Characteristics Page 46
RINGFEDER® RfN 7012-IN/7012 Page 48
RINGFEDER® RfN 7061 Page 52

RINGFEDER® RfN 7110 Page 54

Locking Elements

RINGFEDER® RfN 8006 Page 56

Special Solutions

Overview Page 58

Special Locking Assemblies Page 60

Flange Couplings

Installation and removal instructions

Locking Assemblies Page 62

Locking Elements Page 74




[} -._':_I_
i

RINGFEDER® Locking Assemblies



RfN 7013.0 RfN 7013.1 RfN 7014




RINGFEDER® Locking Assemblies

Characteristiés

Inexpensive manufacturing — The large tolerances that are possible and the simple
turning process guarantee inexpensive manufacturing.

Simple installation — Only a few screws need to be tightened, alignment to precise
angles between the hub and shaft is possible in any position, no special installation work
is required.

Simple dismantling - RINGFEDER® Locking Assemblies are manufactured with threaded
extraction holes, so that no additional auxiliary equipment is necessary, series RfN 7012
is self-releasing.

High reversing load fatigue strength - shaft and hub are not keyed, so that there is
no weakening of these components. Shaft and hub can be designed to be considerably
smaller (lighter, cost and space-saving design possible).

No danger of deflection — RINGFEDER® Locking Assemblies are absolutely backlash
free.

Effect similar to overload protection — After the frictional connection force has been
exceeded the Locking Assemblies simply slip. Valuable machine parts are protected. The
Locking Assemblies are subject to the same laws as any other connection with force
transmission by friction - not suitable as overload protection.

Completely maintenance-free — no follow-up costs.




Explanations to tables

d, D, L, |, L;, = Basic dimensions, Locking Assemblies not
tightened

T = transmissible torque
F., = transmissible axial force

pw = surface pressure between Locking Assembly and

shaft

p, = surface pressure between Locking Assembly and
hub

n = fastener quantity

d; = clamping thread

metric pullout thread dia.

[=3
O
[}

—
>
]

maximum tightening torque for the screws
considered in order to determine the values T, F_,,
py and p,

Dy = minimum required outside hub diameter

minimum required yield point of hub material

Rp0,2

Tax = maximum theoretical transmissible torque

(vy)
[}

minimum hub width (calculation formula at
www.ringfeder.com)

C, = Shaft Tolerances

C, Bore Tolerances

metric hex key size (across flats)

(7]
[}



RINGFEDER® Locking Assemblies

Characteristics

As the industry standard, the RfN 7012/RfN 7012-IN Locking
Assembly is suitable for most applications.

Transmission of high loads — up to 4 RfN 7012/RfN 7012-
IN Locking Assemblies can be used in series, the transmis-
sible torques and axial forces are added. (Please contact our
specialists for assistance).

Bending moment and radial loads — Combined loads can be
transmitted. (Please contact our specialists for assistance).

Simplified manufacture — RfN 7012/RfN 7012-IN Locking
Assemblies can bridge large clearances without the loss of transmis-
sion values.

Low risk to contamination — During the tightening process the
functional surfaces of the device are under pressure, sufficient
enough to keep contaminants out, thereby preserving the integrity
of the the device.

Adjustable transmission values — The screw tightening torque
can be varied, thus allowing for different torque transmission values.
RN 7012/RfN 7012-IN Locking Assemblies can be tightened and
released repeatedly.

Example applications:

sprockets, gears, coupling hubs, conveyor pulleys, idler
wheels, sheaves

RfN 7012-IN

Locking Assembly RfN 7012/RfN 7012-IN - Typical installation

L1

Locking Assembly RfN 7012/RfN 7012-IN - Belt pulley




Locking Assembly dimensions

ransmissible|

torques or
axial forces

lbs

Surface
Pressure

Locking screws

36000 45000 62000

min. Dy*

RpO0,2[psil

3/4
1
11/8
13/16
11/4
13/8
1716
1172
15/8
111/16
13/4
11/8
115/16
2
21/8
23/16
21/4
23/8
2116
21/2
29/16
25/8
211/16
23/4
27/8
215/16
3
31/8
31/4
33/8
31/16
312
33/4
315/16
4
4116
412
415/16
5
51/2
6
61/2
1
1172
117/8

2.315
24375
2,500
2.5625
2625
2.6875
2750
2875
29375
3.000
3125
3.250
3375
34375
3.500
3.750
3.3975
4.000
44315
4.500
4.9375
5.000
5.500
6.000
6.500
7.000
1.500
1875

1.850
1.969

2165
2159
2.362
2.365
2.559
2.559
2.953
2.953
2.953
3150
3150
3.346

R
+0.0025

+0
-0.003

3.346
3543
3.543
3531
3.740
3.740
3131
4331
4331
4331
4.528
4.528
4724
4724

+0.003

+0

-0.0035

4971
4921
5118
5118
5305
5.708
5.843
6.496
6.496

!
+0.0035

+0
-0.004

7.087
7.087
1492
8.268
8.858
9.252

+0.004

+0

-0.0045

9.823
10.235

R
+0.0045

0.996
0945
0945
0.959
1102
1102
1.079
1102
1102
1102
1102
1102
1102
1102
1102
1142
1.301
1.299
1.299
1.299
1496
1496
1449
1496
1732
1732
2126
2.051

0.787
0.787
0.787
0.787
0945
0945
0945
0.945
0.945
0.945
0.945
0945
0945
0945
0945
0945
1.024
1.024
1.024
1.024
1.339
1.339
1.339
1.339
1496
1496
1811
1811

1.370
1319
1319
1.333
1.555
1.555
1.532
1.585
1.555
1.555
1.555
1.555
1.555
1.555
1.555
1.594
1.852
1.850
1.850
1.850
2,087
2.047
2,000
2,047
2.362
2.362
2756
2.681

1721

2497
2556
2617
3175
3866
4017
H15
4262
4332
4515
5355

5658
5601

5706
6914
8402

8489

10498
10652
14493
14672
17804
22762
28336
33220
41369
46707

7200
8088
9045
8994
8813
10857
12488
12512
18801
18773
18761
18611
18556
21696
21673
21625
21579
21494
24586
24538
24510
34514
34524
35067
34852
34821
34656
34675
39545
39524
39105
39127
44250
51212
50934
56778
56811
70447
10426
77690
91048
104625
113897
132381
142345

30500
34000
33000
32000
37000
36000
36000
34500
34000
33000
31000
33000
34000
32000
31000
34000
33000
32000
34000
33000
29000
29000
29000
30500
29000
29000
26500
26500

20600
22200
22100
22000
22500
22400
22900
22000
22100
21000
20600
21800
23400
21500
21200
24100
22800
22000
23300
22900
20300
20500
21300
22200
21300
22000
20300
20400

DIN EN ISO 4762-12.9
LLIGED]
M6x18 5
M6x18 5
M6x18 5
M6x18 5
M6x18 5
M6x18 5
M6x18 5
M6x18 5
M8x22 6
M8x22 6
M8x22 6
M8x22 6
M8x22 6
M8x22 6
M8x22 6
M8x22 6
M8x22 6
14 MBx22 6
16 M8x22 6
16 M8x22 6
16 M8x22 ]
14 M10x25 8
14 M10x25 8
14 M10x25 8
14 M10x25 8
14 M10x25 8
14 M10x25 8
14 M10x25 8
16 M10x25 8
16 M10x25 8
16 M10x25 8
16 M10x25 8
18 M10x25 8
14 M12x30 10
14 M12x30 10
16 M12x30 10
16 M12x30 10
20 M12x35 10
2 M12x35 10
22 M12x35 10
26 M12x35 10
22 M14x40 12
2 M14x40 12
28 M14x45 12
30 M14x45 12

170

M10
M10
M10
M10
m2
w2
m2
w2
2
w2
M2
2
M2
M2
M2
2
M4
M4
M4
w4
M4
M4
M4
M4
M4
M4
M4
M4

5.790
6.421

6.402
6.378
1.502
1479
1.602
1128
1151

7.834
1.746
8.350
8.757
8.609
8536
9.646
9975
9973
11.525
11.386
11523
11.588
12.631
14194
14.816
15.791
15.972
16.688

5184
5611
5.665
5.649
6.616
6.602
6.681
6.844
6.859
6.993
6.936
7407
7.663
7.655
1.608
8.387
8175
8.832
10.093
10.007
10.342
10.384
11.160
12.550
13.195
13.985
14.334
14.966

4.636
5.022
5.015
5.004
5.840
5.832
5.881

6.063
6.071

6.237
6.203
6.571

6.720
6.805
6.776
1317
1129
1823
8.859

8.809

9.267
9.293
9.934
11102
11.745
12.388
12.844
13.402

* B =2l necessary
™

o

-

To continue see next page

.1..

e

I




RINGFEDER® Locking Assemblies

RfN 7012

0 O 4
. © D ead RpO D
a D d D a D D d A 6000 45000 62000 a
mm Inch Ib-ft Ibs psi mm Ib-ft Ibs Inch Ib-ft
19 x 47 | 0748 1.850 0787 | 0669 | 1.083 29 6745 39162 15955 8 M6 x 18 13 05 2680 | 2476 | 2.280 258
o 20 x 47 | 0787 1.850 0787 | 0669 | 1.083 236 6745 3mz2 15955 8 M6 x 18 13 05 2680 | 2476 | 2280 213
22 x 47 | 0866 -n.gnz 1.850 +UFUI]2 0.787 | 0669 | 1.083 266 6745 34811 15955 8 M6 x 18 13 05 2680 | 2476 | 2280 302
24 x 50 | 0945 1.969 0.787 | 0669 | 1.083 37 6745 34811 17405 9 M6 x 18 13 06 2961 | 2711 | 2474 369
25 x 50 | 0984 1.969 0.787 | 0669 | 1.083 339 6745 33360 17405 9 M6 x 18 13 06 2961 | 2711 | 2474 384
28 x 55 | 1102 2165 0.787 | 0669 | 1.083 420 8993 33360 17405 9 M6 x 18 13 07 3256 | 2981 | 2121 435
30 x 55 | 1181 2165 0787 | 0669 | 1.083 443 8993 30459 17405 9 M6 x 18 13 06 3256 | 2981 | 2121 465
32 x 60 | 1260 2.362 0.787 | 0669 | 1.083 561 124 33360 18856 12 M6 x 18 13 07 3691 | 3347 | 3028 664
135 x 60| 1318 2.362 0787 | 0669 | 1.083 627 124 31910 18856 12 M6 x 18 13 07 3691 | 3347 | 3028 23
38 x 65 | 1496 0 2559 0 0787 | 0669 | 1.083 175 13489 | 33360 18856 15 M6 x 18 13 08 3999 | 3627 | 3.280 959
40 x 65 | 1575 | 00025 | 2559 |+00025| 0787 | 0669 | 1.083 819 13489 | 31910 18856 15 M6 x 18 13 0.7 3999 | 3627 | 3280 1033
42 x 15 | 1654 2953 0945 | 0787 | 1319 1291 17986 | 39162 21757 12 M8 x 22 30 13 5005 | 4441 | 3940 1549
45 x 15| 1112 2.953 0945 | 0787 | 1319 1387 17986 | 36261 1751 12 M8 x 22 30 13 5005 | 4441 | 3940 1697
48 x 80 | 1890 3150 0945 | 0787 | 1319 1468 17986 | 33360 20306 12 M8 x 22 30 14 5123 | 4597 | 4119 1710
50 x 80 | 1969 3150 0945 | 0787 | 1.319 1827 17986 | 31910 20306 12 M8 x 22 30 13 5123 | 4597 | 4119 1844
55 x 85 | 2165 3.346 0945 | 0.787 | 1.319 1955 22482 | 33360 1751 14 M8 x 22 30 14 5671 | 5032 | 4.465 2434
60 x 90 | 2362 3.543 0945 | 0.787 | 1.319 2132 22482 | 30459 20306 14 M8 x 22 30 15 5762 | 5171 | 4833 2655
65 x 95 | 2559 0 3.740 0 0945 | 0.787 | 1.319 2626 2730 | 31910 21157 16 M8 x 22 30 16 6.338 | 5624 | 4.991 3246
70 x 110| 2756 | -0.003 | 4331 | +0003 | 1102 | 0945 | 1555 4020 35971 36261 21751 14 M10 x 25 61 28 7340 | 6513 | 571719 4942
75 x 115] 2953 4528 1102 | 0945 | 1555 4286 35971 33360 21751 14 M10 x 25 61 29 7674 | 6809 | 6.042 5311
80 x 120| 3150 4124 1102 | 0945 | 1555 4544 35971 30459 20306 14 M10 x 25 61 31 7682 | 6894 | 6.178 5680
85 x 125| 3346 4921 1102 | 0945 | 1555 5495 40468 | 33360 21751 16 M10 x 25 61 33 8340 | 7400 | 6.567 6860
90 x 130| 3543 5118 1102 | 0945 | 1.555 5768 40468 | 30459 21751 16 M10 x 25 61 34 8674 | 7697 | 6.829 7303
95 x 135| 3.740 0 5.315 0 1102 | 0945 | 1.555 6904 44964 | 33360 23201 18 M10 x 25 61 36 9403 | 8242 | 1239 8630
100 x 145| 3937 |-00035 | 5709 |+0.0035| 1299 | 1.024 | 1850 8188 49460 | 33360 23201 14 M12x 30 107 44 10100 | 8853 | T.775 10474
110 x 155] 4331 6.102 1299 | 1.024 | 1.850 8984 49460 | 30459 21751 14 M12x30| 107 41 10341 | 9176 | 8142 11655
[ 120 x 165| 4724 6.496 1299 | 1.024 | 1850 | 11212 58453 | 31910 23207 16 M12 x 30 107 52 11.492 | 10073 | 8.847 14531
130 x 180| 5118 7.087 1496 | 1339 | 2047 | 15048 71942 | 27559 18856 20 M12x 35 107 11 11.076 | 10044 | 9.084 19621
140 x 190| 5512 7480 149 | 1339 | 2047 | 17851 78687 | 27559 21751 22 M12 x 35 107 85 12677 | 11.249 | 9.981 23235
150 x 200| 5906 0 1874 0 149 | 1339 | 2047 | 20654 85432 | 29009 21751 2% M12x 35 107 9.0 13384 | 11841 | 10507 | 27145
160 x 210| 6299 | -0.004 | 8268 | +0.004 | 1496 | 1.339 | 2.047 | 23973 89928 | 29009 21751 26 M12 x 35 107 9.5 14.012 | 12434 | 11.033 | 31423
170 x 225| 6.693 8.858 1732 | 1496 | 2.362 | 29284 | 105665 | 27559 21751 22 Mi4x40| 170 13 15012 | 13321 | 11.820 | 38947
180 x 235| 7.087 9.252 1732 | 1496 | 2362 | 33710 | 112410 | 29009 21751 2% M14 x 40 170 13 15680 | 13914 | 12346 | 44996
190 x 250| 7.480 9.843 2047 | 1811 | 2677 | 41529 | 134892 | 26108 20306 28 M14 x 45 170 18 16.007 | 14.365 | 12872 | 55396
200 x 260 7.874 0 10.236 0 2047 | 1811 | 2677 | 46840 | 143885 | 26108 20306 30 M14 x 45 170 19 16646 | 14938 | 13386 | 62478
220 x 285| 8661 |-0.0045| 11220 | +0.0045| 2205 | 1969 | 2913 | 60339 | 168615 | 26108 20306 26 M16 x 50 262 25 18246 | 16.375 | 14.672 | 80550
240 x 305| 9449 12.008 2205 | 1969 | 2913 | 75903 | 193345 | 27559 21751 30 M16 x 50 262 2 20350 | 18.058 | 16.023 | 101351
260 x 325| 10.236 12.795 2205 | 1969 | 2913 | 92204 | 215827 | 29009 23201 34 M16 x 50 262 29 22636 | 19841 | 17426 | 124439
280 x 355| 11.024 -D.EIJE 13976 R 0%05 2598 | 2362 | 3406 | 112858 | 247302 | 24658 20306 32 M18 x 60 358 42 22.728 | 20397 | 18.276 | 154239
300 x 375| 11811 14.764 2598 | 2362 | 3406 | 134987 | 274281 | 26108 20306 36 M18x60 | 358 45 24010 | 21547 | 19.307 | 185958
320 x 405| 12.598 15.945 3071 | 2835 | 3957 | 184409 | 350719 | 26108 20306 36 M20 x 70 509 65 25930 | 23270 | 20851 | 262124
340 x 425| 13.386 16.732 3071 | 2835 | 3957 | 196580 | 350719 | 24658 20306 36 M20x70 | 509 69 21210 | 24419 | 21.880 | 267909
360 x 455| 14173 _013055 17913 +0.3055 3543 | 3307 | 4567 | 258541 | 436151 | 24658 20306 36 M22 x 80 686 923 29131 | 26142 | 23425 | 350303
380 x 475] 14.961 18.701 3543 | 3307 | 4567 | 27012 | 433903 | 23207 18856 36 M22 x 80 686 97 29227 | 26503 | 23971 | 369776
400 x 495| 15748 19.488 3543 | 3307 | 4567 | 283252 | 431655 | 23207 18856 36 M22 x 80 686 101 30457 | 27619 | 24980 | 389250
420 x 515| 16535 20.276 3543 | 3307 | 4567 | 328985 | 476619 | 23207 18856 40 M22 x 80 686 110 31.688 | 28.735 | 25990 | 454088
440 x 545| 17323 21.457 4016 | 3780 | 5118 | 402011 | 555306 | 23207 18856 40 M24 x 90 885 142 33534 | 30409 | 27504 | 559275
460 x 565| 18.110 -l].l[]l(]B 22244 +0le][]6 4016 | 3780 | 5118 | 416764 | 550809 | 21757 17405 40 M24 x 90 885 149 33451 | 30830 | 27.954 | 584723
480 x 585| 18.898 23031 4016 | 3780 | 5118 | 457334 | 580036 | 21757 17405 42 M24 x 90 885 157 34.634 | 31.714 | 28943 | 640636
500 x 605| 19.685 23819 4016 | 3780 | 5118 | 494215 | 602518 | 21757 17405 i M24 x 90 885 160 35819 | 32.799 | 29933 | 699130
520 x 630| 20472 24.803 4016 | 3780 | 5118 | 520033 | 609263 | 21032 17405 45 M24 x 90 885 176 37.299 | 34154 | 31169 | 743610
540 x 650| 21.260 -[].[[1107 25591 +Uﬂ]07 4016 | 3780 | 5118 | 539211 | 608813 | 20306 16680 45 M24 x 90 885 181 37767 | 34.742 | 31.845 | 772230
560 x 670| 22.047 26.378 4016 | 3780 | 5118 | 595271 | 647932 | 20306 17405 48 M24 x 90 885 187 39.668 | 36.322 | 33.149 | 854181




Locking Assembly dimensions Transmissible Surface Locking screws Weight min. Dy*
torques or | Pressure | p|\ EN SO 4762-12.9
axial forces
Thread Rp0,2[psil
dg 36000 45000 62000

Ib-ft lbs i mm Ib-ft
580 690 640267 | 673561 M24 x 90 921601
600 710 660921 | 671987 M24 x 90 953319
620 730 708867 | 697617 M24 x 90 1024501
640 750 759026 | 723022 M24x90 1098265
660 770 809923 | 748201 M24x90 1174536
680 790 832790 | 746853 M24x90 1210164
700 916880 | 798786 M24x90 1334677
720 830 941222 | 1247077 M24x90 1372812
740 850 998020 | 822617 M24x90 1458009
760 870 1056293 | 847572 M24x90 1545714
780 890 1099814 | 859487 M24x90 1611142
800 910 1143334 | 871403 M24x90 1677898
820 930 1205295 | 896358 M24x30 1711947
840 950 1269470 | 921313 M24x30 1868577
860 970 1334382 | 946268 M24x90 1967715
880 990 1401506 | 971223 M24x90 2069361
900 1010 1450928 | 982914 M24x90 2145042
920 1030 1501087 | 994604 M24x90 2221904 :
940 x 1050{ 37.008 41.339 4016 | 3.780 | 5118 | 1571900 | 1019559 | 19581 17405 8 M24x90 885 304 62.166 | 56.924 | 51.950 | 2329967 _.;
960 x 1070| 37.795 42126 4016 | 3.780 | 5118 | 1644188 | 1044290 | 19581 17405 80 M24x90 885 309 63350 | 58.007 | 52.939 | 2440539 =
980 x 1090| 38.583 42913 4016 | 3.780 | 5118 | 1697298 | 1055980 | 18856 17405 81 M24x90 885 315 64.533 | 59.091 | 53928 | 2522564 =
1000 x 1110{ 39.370 43701 4016 | 3.780 | 5118 | 1751145 | 1067671 | 18856 17405 82 M24x90 885 322 65.718 | 60.176 2605843 —

/ 7 7 - ~
.". _,:ﬁ --".I

B Mounting of Locking Assembly B Location of several Locking Assemblies RfN 7012
The Locking Assemblies are supplied slightly oiled If several Locking Assemblies are to be installed, the trans- kg
and ready-to-use. The values for T, F,, pw and p, mission values of the table can be added when the Locking | 'r
apply to Locking Assemblies installed in oiled condition. Assemblies are located within a distance of 4 x Lj. |

m Surface finishes m Change of screw tightening torques ] ‘
For shafts and hub bores The Locking Assemblies are equipped with 12.9 grade |
R, = 125 RMS screws. A reduction of the screw tightening torque is possible. ,[ .I

The lowest allowable screw tightening torque is |
H Tolerances approximately 50% of Ta. There is an approximate :

We recommend the following mounting tolerances

shaft: k9-h9 - hub: N9-H9 - see table above
shaft: k11-h11 - hub: N11-H11

To avoid deformation of the relatively thickwalled thrust
rings, the Locking Assembly should be located as sym-
metrically as possible between shaft and hub bore. If the shaft
is smaller than nominal d, the bore should exceed nominal D
to the same extent and vice versa. The true run-out quality is
determined by the direct centering between shaft and hub.

linear relationship between T, Ta , F4, pw and pp,.

B Auxiliary Threads
To facilitate removal, the front thrust rings have auxiliary
threads for pull-out screws.

*B = 2| necessary To continue see next page




_l.-.

L

RINGFEDER® Locking Assemblies

Characteristics

Excellent centering ability — Due to the shallow tapered design
the RfN 7013.0-IN Locking Assemblies are self-centering.

Easy trouble free assembly/removal — The reinforced flange
prevents the Locking Assembly from distorting when the jacking
screws are used during assembly and removal.

High rotation speed — The dimensional accuracy ofthe RfN7013.0-
IN Locking Assemblies allows their use in applications with higher
rotational speeds.

High radial loads — The material strength of the RfN 7013.0-IN
Locking Assemblies makes them especially suitable for applica-
tions with high radial loads.

Example applications:
Crane running wheels, couplings, gears, flywheels,

fan blades

RfN 7013.0-IN

Locking Assembly RfN 7013.0-IN - Typical installation

L1

Locking Assembly RfN 7013.0-IN - Dimensions

(ENT)}

115 (125)
765 h8
dLT

pre-boie

-
P 54.8
8 115 (125)

- YP 2 304 Nimm®

G

~ 0,020)

elgstic expansion ~ 0,030

@160 (9190)

Locking Assembly RN 7013.0-IN - Gear (metric example)




Locking Assembly dimensions Transmissible Surface Locking screws

torques or Pressure DIN EN ISO 4762-12.9
axial forces ’

Shaft| Hub Rp0,2[psi]
T | Fu 3600045000

Inch

1 5 M6x20 5
13116 5 M6x20 5
11/4 6 M6x20 5
13/8 -0 6 M6x20 ]
1116 +0.0018 6 M6x20 5
1172 6 M6x20 i
15/8 6 MB8x25 6
13/4 6 M8x25 6
17/8 6 M8x25 6
115/16 6 M8x25 6

2 6 M8x25 6
21/8 1 M8x25 6
2 3116 1 M8x25 6
21/4 1 M8x25 6
2 3/8 )] 1 M8x25 6
2 116 +0.0022 8 MB8x25 6
2172 8 M8x25 6
2 9/16 8 M8x25 6
234 2.750 4331 1.969 1315 2.362 3680 32116 | 34770 | 18200 1 M10x35 8 61 46 6.750 | 6.058 | 5.502
21/8 2875 4528 1.969 1315 2.362 3845 32097 | 33300 | 16920 1 M10x35 8 61 49 6875 | 6.176 | 5653 ‘
215/16 2.9375 4528 1.969 1315 2.362 3929 32101 32590 | 16920 1 M10x35 8 61 49 6875 | 6.176 | 5.663

3 3.000 4528 1.969 1315 2.362 4012 32096 | 31910 | 16920 1 M10x35 8 61 49 6875 | 6.176 | 5653
338 3.315 4921 1.969 1315 2.362 5434 38642 | 32430 | 18345 8 M10x35 8 61 5.3 7625 | 6903 | 6.264
3 116 34375 5.118 1.969 1.315 2.362 5543 38700 | 31810 | 17630 8 M10x35 8 61 5.1 7875 | 7079 | 6.451
312 3.500 +0 5118 -0 1.969 1315 2.362 5644 38702 | 31240 | 17630 8 M10x35 8 61 5.1 7875 | 7079 | 6451
33/ 3.750 -0.0022 5315 | +0.0025 | 1969 1.315 2.362 7180 45952 | 36450 | 21190 10 M10x35 8 61 6.0 9000 | 7.899 | T7.036
315/16 39375 5.709 2.283 1.606 2611 7957 48500 | 27300 | 16210 10 M10x35 8 61 8.2 8500 | 7680 | 7.59

[) 4.000 5.709 2.283 1.606 2611 8083 48498 | 26870 | 16210 10 | M10x35 8 61 82 8500 | 7.680 | 7.059

JI__'."' * B2 2| necessary More sizes on request
// - -
7/
4 [

B Mounting of Locking Assembly
The Locking Assemblies are supplied slightly oiled and ready-
to-use. The values for T, F,,, pw and p, apply to installed in
oiled condition.

m Surface finishes
For shafts and hub bores
Ra = 63 RMS

I

B Tolerances
We recommend the following mounting tolerances
shaft: h8 - hub: H8 - see table above

m Change of screw tightening torques
A change of the Ty values given in the above table is inad-
missible.

=T \\t.

195

RfN 7013.0-IN



_l.-.

L

RINGFEDER® Locking Assemblies

Characteristics

Excellent centering ability — Due to the shallow tapered design
the RfN 7013 Locking Assemblies are self-centering.

Easy trouble free assembly/removal — The reinforced flange
prevents the Locking Assembly from distorting when the jacking
screws are used during assembly and removal.

High rotation speed — The dimensional accuracy of the RfN 7013
Locking Assemblies allows their use in applications with higher
rotational speeds.

High radial loads — The material strength of the RfN 7013 Lo-
cking Assemblies makes them especially suitable for applications
with high radial loads.

Example applications:
Crane running wheels, couplings, gears, flywheels,

fan blades

RfN 7013.0

Locking Assembly RfN 7013.0 - Typical installation

L1

Locking Assembly RfN 7013.0 - Dimensions

115 (125)
P65 hE
Lt

pre-bore

~

YP 2 304 Nimm®
TED

G

9648
8 115 (125)

~ 0,020)

elgstic expansion ~ 0,030

@160 (9190)

Locking Assembly RfN 7013.0 - Gear (metric example)




Locking Assembly dimensions Transmissible Surface Locking screws

torques or Pressure |5 N EN ISO 4762-12.9
axial forces ’

Shaft| Hub
Inch Ibs
19x47 22129 4 M6 x 20
20x47 ) 2129 4 MG x 20
2x47 +0.0016 2129 4 M6 x 20
2 x50 . 29505 5 M6 x 20
25x50 29505 5 M6 x 20
28x55 29505 5 M6 x 20
30x55 29505 5 M6 x 20
32x60 36882 6 M6 x 20
35 60 ) 36882 6 MG x 20
38x65 +00018 36862 6 M6 x 20
40 x 65 36882 6 M x 20
42x75 - 59011 6 M8 x 25
45x75 59011 6 M8 x 25
48x80 59011 6 M8 x 25
50 x 80 59011 6 M8 x 25
55 85 66387 1 M8 x 25
80x90 | 2362 3543 149 | 09% | 1811 | 2043 | 66387 | 36261 | 18856 7 MBx25 | 30 18 | 5537 | 5021 | 4541 | 236
65x 95 2559 +0 3.740 | 1496 | 09% | 1.811 2641 81140 | 37712 | 20306 8 M8 x 25 30 21 6.082 | 5458 | 4891 | 3032
70x110 | 2756 | 00018 | 4331 | +00022| 1969 | 1315 | 2362 | 3762 | 103269 | 34811 | 18856 | 7 | M10x35| 61 46 | 6769 | 6138 | 5552 | 4323
15x115 | 2953 4528 1969 | 1315 | 2362 | 4027 | 103269 | 33360 | 17405 | 7 | M10x35| 61 49 | 6809 | 6235 | 5690 | 4625 ‘
80x120 | 3150 4124 1969 | 1315 | 2362 | 4315 | 103269 | 30459 | 15955 | 7 | M10x35| 61 51 | 6844 | 6324 | 5821 | 4957
85x125 | 3346 4921 1969 | 1315 | 2362 | 5495 | 132774 | 33360 | 18856 | 8 | M10x35| 61 53 | 7691 | 6974 | 6308 | 6314
90x130 | 3543 5118 1969 | 1315 | 2362 | 5827 | 132774 | 31910 | 17405 | 8 | M10x35| 61 57 | 7697 | 7047 | 6432 | 6698
95x135 | 3740 + | 5315 1969 | 1315 | 2362 | 7303 | 154903 | 37712 | 21757 | 10 | M10x35| 61 60 | 9008 | 7993 | 7092 | 8394
100x145 | 3937 | 00022 | 5709 +0§025 2283 | 1606 | 2677 | 8114 | 162280 | 27559 | 15955 | 10 | M10x35| 61 82 | 8270 | 7642 | 7035 | 9331
110x185 | 4331 6102 2283 | 1606 | 2677 | 8925 | 162280 | 26108 | 15955 | 10 | M10x35| 61 88 | 8840 | 8168 | 7519 | 10261
120x165 | 4724 6.496 2283 | 1606 | 2677 | 11581 | 191785 | 27559 | 17405 | 12 | M10x35| 61 95 | 9769 | 8945 | 8163 | 13314
130x180 | 5118 7.087 2559 | 1.787 | 3.031 15269 | 236043 | 27559 | 17405 10 Mm2x40 | 107 13 10658 | 9.759 | 8906 | 17556
140x190 | 5512 _03325 7480 | . | 2559 | 1787 | 3031 | 16597 | 236043 | 26108 | 15955 | 10 | Mi2x40 | 107 14| 10836 | 10013 | 9217 | 19083
150x200 | 5906 7874 | +00028 | 2559 | 1787 | 3031 | 21023 | 280301 | 29009 | 18856 | 12 | Mi2x40 | 107 15 | 12306 | 11.159 | 10083 | 24172
.-_.l. 3 b =
A =
."::::.r ."lllrl ! _\_
: I,.-" * B =2 | necessary More sizes on request
-~ ) f
B Mounting of Locking Assembly B Tolerances
The Locking Assemblies are supplied slightly oiled and ready- We recommend the following mounting tolerances
to-use. The values for T, F,,, pw and p, apply to installed in shaft: h8 - hub: H8 - see table above

oiled condition.
m Change of screw tightening torques

B Surface finishes A change of the Ty values given in the above table is inad-
For shafts and hub bores missible.
Ra =63 RMS

=T \\t.




Characteristics

Excellent concentricity and very easy to remove — These Lo-
cking Assemblies provide particularly good concentricity between
the clamped parts. The flange is reinforced at the critical point,
preventing bending or lifting of the inner ring during assembly and
thereby ensuring easy removal.

High rotation speed - The dimensional accuracy of the RfN
7013.1-IN Locking Assemblies allows their use in applications
with higher rotational speeds.

High radial loads — The material strength of the RfN 7013.1-IN-
Locking Assemblies makes them especially suitable for
applications with high radial loads.

Axial hub positioning — The increased outer diameter of the
flange prevents the axial movement of the hub during assembly,
and improves the run-out ability of the Locking Assembly.

High torque — The increased number of clamping screws en-
sures the same transmission values as the RfN 7013.1-IN.

\

Locking Assembly RfN 7013.1-IN - Typical Installation

L1

-
o ©

Locking Assembly RfN 7013.1-IN - Dimensions

Locking Assembly RfN 7013.1-IN - Bevel gear



Locking Assembly dimensions Transmissible Surface Locking screws

torques or Pressure | o /N EN ISO 4762-12.9
axial forces '

61 5.1 7875 | 7079 | 6451
61 6.0 9.000 | 7899 | 7.036

312 3500 | 40 | 5118 | o | 1969 | 1315 | 2362 | 1591 | 5512 | 5644 38702 31240 | 17630 | 12 | M10x35
33/4 3750 |-0.0022 | 5315 |+0.0025| 1969 | 1.315 | 2.362 | 1.591 | 5.709 | 7180 45952 36450 | 21190 | 15 | M10x35

Shaft| Hub Rp0,2[psi]
Wy
Inch
1 M6x20 5 0.7
13/16 M6x20 5 08
11/4 M6x20 5 09
13/8 0 M6x20 5 09
1116 +0.0018 M6x20 5 10
1172 M6x20 ) 1.0
15/8 M8x25 ] 1.7
13/4 M8x25 6 1.7
17/8 M8x25 6 18
115/16 M8x25 6 18
2 M8x25 6 18
21/8 M8x25 6 18
23/16 M8x25 6 18
21/4 M8x25 6 19
23/8 -0 M8x25 6 19
f’ 2116 +0.0022 M8x25 6 21
4 / 2112 2500 |-0.0018 | 3740 1496 | 099 | 1.811 | 1193 | 4134 [ 2530 24288 37990 | 20050 12 | M8x25 6 30 21 6.125 | 5430 | 4873
% 29/16 2.5625 3.740 1496 | 0996 | 1.811 | 1.193 | 4134 | 2593 24286 37065 | 20050 12 | M8x25 6 30 21 6.125 | 5430 | 4873
23/4 2.750 4.331 1969 | 1315 | 2362 | 1591 | 4724 | 3680 32116 34770 | 18200 10 |[MI0x35 | 8 61 46 6.750 | 6.058 | 5.502
21/8 2875 4528 1969 | 1.315 [ 2.362 | 1.591 | 4921 | 3845 32097 33300 | 16920 10 | M0x35| 8 61 49 6875 | 6.176 | 5.653 ‘
215/16 29375 4.528 1969 | 1315 | 2362 | 1591 | 4921 | 3929 32101 32590 | 16920 10 |[MI0x35 | 8 61 49 6875 | 6176 | 5.653
3 3.000 4528 1969 | 1315 | 2362 | 1.591 | 4921 | 4012 32096 31910 | 16920 10 |[M10x35 | 8 61 49 6875 | 6.176 | 5.653
33/8 3375 4921 1969 | 1315 | 2362 | 1.591 | 5315 | 5434 38642 32430 | 18345 12 [ M10x35 | 8 61 5.3 7625 | 6903 | 6.264
3116 34375 5118 1969 | 1315 | 2362 | 1.591 | 5512 | 5543 38700 31810 | 17630 12 [ M10x35 | 8 61 5.1 7875 | 7079 | 6.451
8
8
8
8

315/16 | 39375 5.709 2283 | 1606 | 2677 | 1.882 | 6102 | 7957 48500 21300 | 16210 | 15 | M10x35 61 8.2 8500 | 7.680 | 7.059
4 4.000 5.709 2283 | 1606 | 2677 | 1.882 | 6.102 | 8083 48498 26870 | 16210 | 15 [ M10x35 61 8.2 8500 | 7.680 | 7.059
.". W
* B =2l necessary More sizes on request

"\

4 -y .'.

B Mounting of Locking Assembly B Location of several Locking Assemblies RfN 7013.1-IN
The values for T, F,, , pw and p,, apply to Locking Assemblies Location only possible from 2 sides. If several Locking
installed in oiled condition. Assemblies are used to increase the transmission values the

clamping systematization has to be considered.
m Surface finishes

For shafts and hub bores m Change of screw tightening torques
R, = 63 RMS A change of the T, values given in the above table is
inadmissible.

B Tolerances
We recommend the following mounting tolerances
shaft: h8 - hub: H8 - see table above




Characteristics

Excellent concentricity and very easy to remove — These Lo-
cking Assemblies provide particularly good concentricity between
the clamped parts. The flange is reinforced at the critical point,
preventing bending or lifting of the inner ring during assembly and
thereby ensuring easy removal.

High rotation speed - The dimensional accuracy of the RfN
7013 Locking Assemblies allows their use in applications with
higher rotational speeds.

High radial loads - The material strength of the RfN 7013
Locking Assemblies makes them especially suitable for
applications with high radial loads.

Axial hub positioning — The increased outer diameter of the
flange prevents the axial movement of the hub during assembly,
and improves the run-out ability of the Locking Assembly.

High torque — The increased number of clamping screws en-
sures the same transmission values as the RfN 7013.0.

\

Locking Assembly RfN 7013.1 - Typical Installation

L1

-
o ©

Locking Assembly RfN 7013.1 - Dimensions

Locking Assembly RfN 7013.1 - Bevel gear



Locking Assembly dimensions Transmissible Surface Locking screws

torques or Pressure | \n ENISO 4762-12.9
axial forces ’

Shaft| Hub Rp0,2[psi]
3600045000 (62000 | T,y

Inch
19x 47 M6x20 1 2494
20x47 - M6x20 1 2494
2x47 +0.0016 M6x20 1 2494
24 x50 M6x20 . 2.852
25x 50 M6x20 . 2.852
28x 55 M6x20 . 3.024
30x 55 M6x20 . 3.024
32x 60 M6x20 ) 3422
35x 60 M6x20 . 3422
38x65 M6x20 | 3.575
40x 65 M6x20 . 3575
42x 715 M8x25 . 4615
45x 75 M8x25 . 4615
48x 80 M8x25 . 4923
50 x 80 M8x25 . 4923
f’ 55x 85 M8x25 544
y / 60x90 | 2.362 3.543 1496 | 0996 | 1.811 | 1.193 | 3937 | 2043 20234 | 36261 | 18856 10 M8x25 30 19 5537 | 5021 | 4501 | 2242
% 65x95 | 2559 | +p [ 3740 | -p | 1496 | 0996 | 1.811 | 1.193 | 4134 | 26M 24730 | 37712 | 20306 12 M8x25 30 21 6.082 | 5458 | 4891 | 2899
70x110 | 2756 (-0.0018 4331 [+0.0022| 1969 | 1.315 | 2.362 | 1.591 | 4724 | 3762 31475 | 34811 | 18856 10 M10x 35 61 46 6.769 | 6138 | 5552 | 4138
75x115 | 2.953 4528 1.969 | 1.315 | 2.362 | 1.591 | 4.921 | 4027 31475 | 33360 | 17405 10 M10x35 61 49 6.809 | 6235 | 5690 | 4426 ‘
80x120 | 3.150 4124 1.969 | 1.315 | 2.362 | 1.591 | 5118 | 4315 31475 | 30459 | 15955 10 M10x35 61 51 6.844 | 6324 | 5821 | 4743
85x125 | 3.346 4921 1.969 | 1.315 | 2.362 | 1.591 | 5315 | 5495 40468 | 33360 | 18856 12 M10x35 61 53 7691 | 6974 | 6308 | 6041
90x130 | 3543 5118 1969 | 1315 | 2.362 | 1.591 | 5512 | 5827 40468 | 31910 | 17405 12 M10x35 61 5.1 7697 | 7.047 | 6432 | 6410
95x135 | 3740 [ +p | 5315 1.969 | 1.315 | 2.362 | 1.691 [ 5709 | 7303 4112 | 31m2 | 21751 15 M10x 35 61 6.0 9008 | 7.993 | 7.092 | 8033
100x 145 | 3937 |-0.0022| 5709 +03025 2283 | 1.606 | 2.677 | 1.882 | 6.102 | 8114 49460 | 27559 | 15955 15 M10x 35 61 82 8270 | 7642 | 7035 | 8925
110x155 | 4.331 6.102 2283 | 1.606 | 2.677 | 1.882 | 6496 | 8925 49460 | 26108 | 15955 15 M10x 35 61 88 8840 | 8168 | 7.519 | 9818
120x165 | 4.724 6.496 2283 | 1.606 | 2.677 | 1.882 | 6.890 | 11581 58453 | 27559 | 17405 18 M10x 35 61 95 9769 | 8945 | 8163 | 12739
130x180 | 5.118 7.087 2559 | 1.787 | 3.031 | 2.063 | 7480 | 15269 71942 | 27559 | 17405 15 M12x40( 107 13 10658 | 9759 | 8906 | 16796
140x190 | 5512 _03325 7480 | o | 2559 | 1.787 | 3.031 | 2.063 | 7.874 | 16597 71942 | 26108 | 15955 15 M12x40( 107 14 10836 | 10.013 | 9.217 | 18256
150x 200 | 5.906 7.874 [+0.0028| 2559 | 1.787 | 3.031 | 2.063 | 8.268 | 21023 85432 | 29009 | 18856 18 M12x40( 107 15 12.306 | 11.159 | 10.093 | 23125

_:f'“ *B =2l necessary More sizes on request
/ £ A 1]
I i i
B Mounting of Locking Assembly m Location of several Locking Assemblies RfN 7013.1
The values for T, F,, , pw and p,, apply to Locking Assemblies Location only possible from 2 sides. If several Locking
installed in oiled condition. Assemblies are used to increase the transmission values the

clamping systematization has to be considered.
m Surface finishes

For shafts and hub bores m Change of screw tightening torques
R, = 63 RMS A change of the T, values given in the above table is
inadmissible.

B Tolerances
We recommend the following mounting tolerances
shaft: h8 - hub: H8 - see table above




RINGFEDER® Locking Assemblies

Characteristics

Large transmission of peripheral forces — Due to the long, flat
tapers it is possible to transmit maximum torques and axial forces
with one RfN 7014 locking assembly.

Maximum reliability — Due to the shallow tapers and the re-
latively wide construction (large guide lengths) the Locking As-
semblies RfN 7014 center themselves. During installation, the
Locking Assembly, shaft and hub remain in position relative to
each other. The shaft and hub are subject to pure clamping pres-
sure, providing additional safety compared to 3 piece designs.

Example applications:
Heavy pulleys, construction of heavy machinery, couplings,
cable sheaves

RfN 7014

B>L+2x(Li-L)

@ Dy

Locking Assembly RfN 7014 Typical installation

L1

Locking Assembly RfN 7014 - Dimensions

Locking Assembly RfN 7014 - Mounting of Gear




Locking Assembly dimensions Transmissible Surface Locking screws Weight min. Dy*
torques or Pressure | p\N EN 1SO 4762-12.9

axial forces
Shaft | Hub Rp0,2[psi]
Ly T Fax | Pw Pn WT |36000 45000 62000| T,ax

Ib-ft Ibs psi mm Ib-ft Ibs Inch Ib-ft
5053 44964 17405 M12x55| 107 13 7104 | 6505 | 5937 5827
8593 65198 23201 M12x55| 107 82 9054 | 7936 | 6.970 9958
9589 65198 21751 M12x55| 107 8.8 9341 | 8289 | 7355 11138
100 x 160 | 3.937 +0 6.299 0 3150 | 2913 | 3.701 14531 87680 | 30459 18856 12 M14x70| 170 16 9844 | 8927 | 8074 1713
110 x 170 | 4331 [-0.0035 | 6693 |+0.0035| 3150 | 2.913 | 3.701 19621 | 110162 | 34811 23207 14 M14x70| 170 17 11.841 | 10379 | 9115 21760
21318 | 107914 21751 M14x70| 170 12011 | 10658 | 9457 25670
23014 | 107914 20306 M14x70| 170 12.164 | 10916 | 9.782 27809
29653 | 128147 23207 M14x70| 170 13930 | 12210 | 10724 | 33931
31645 | 128147 21751 M14x70| 170 14012 | 12434 | 11.033 | 38505
47209 | 179856 23207 M16x80| 262 16.019 | 14.042 | 12332 | 52446
50012 | 179856 21751 M16x80| 262 16.013 | 14210 | 12609 | 59011
61224 | 206835 24658 M16x80| 262 18214 | 15.752 | 13686 | 69411
64912 | 206835 23201 M16x80| 262 18.109 | 15.873 | 13941 76935

200 x 270 | 7874 | +p | 10630 | - 3701 | 3465 | 4331 | 77452 | 236061 | 34811 26108 2 M16x80| 262 ] 20623 | 17571 | 15093 | 88664 | ‘r
220 x 300 8661 | -0.0045 | 11,811 | +0.0045| 4567 | 4331 | 5276 90729 | 251799 | 27559 20306 21 M18x100] 358 61 19.208 | 17.237 | 15.445 | 108875
200 x 320 9.449 12.598 4567 | 4331 | 5276 | 112858 | 287770 | 29009 21757 24 M18x100] 358 66 21.350 | 18.945 | 16.811 135725
260 x 340 | 10.236 13.386 4567 | 4331 | 5276 | 137200 | 321493 | 29009 23207 26 M18x100] 358 n 23682 | 20.758 | 18.231 159329
280 x 370 | 11.024 -UTUU% 14.567 +D-.gﬂﬁ 5350 | 5118 | 6.142 | 169656 | 370953 | 27559 21757 2 M20x120] 509 101 24687 | 21.906 | 19.438 | 201374
300 x 390 | 11.811 15.354 5354 | 5118 | 6.142 | 180721 | 370953 | 26108 20306 24 M20x 120, 509 108 24969 | 22408 | 20078 | 215758
* Bz L+2x (L1-L) necessary More sizes on request

=

L=

B Mounting of Locking Assembly m Change of screw tightening torques
The values for T, F,,, pw and p, apply to Locking Assemblies A reduction of the contact pressures and the transmission
installed in oiled condition. values by reducing the tightening torque of the screws is possi-
ble. The admissible lower limit is a 20% reduction of tightening
m Surface finishes torque. There is an approximate linear relationship between T,
For shafts and hub bores Ta Faxe pw and py,
R, <125 RMS
Tolerances

We recommend the following mounting tolerances
shaft: k9-h9 - hub: N9-H9 - see table above

Location of several Locking Assemblies RfN 7014

Two Locking Assemblies at most can be installed in series. In
this case the transmission values of the above table will

be double.

Note: For the removal of the Locking Assembly a step
in the hub or shaft is required (see location drawing
page 18).




RINGFEDER® Locking Assemblies

Characteristics

Precision Locking Assembly for the transmission of maximum torques

and axial forces with special requirements for the concentricity of the

parts being clamped, as well as for applications subjected to bending

moments.

Large transmission of peripheral forces — Due to the long, flat

tapers it is possible to transmit maximum torques and axial forces

with one RfN 7015.0 Locking Assembly.

A Bending moment and radial loads — Combined loads can be
transmitted (Please contact our specialists for assistance).

During installation, the Locking Assembly, shaft and hub remain

positioned relative to one another. Compared to 3-part versions, an

additional safety is provided. Shaft and hub are only compression-

loaded.

Excellent centering ability — With a relatively wide design (giving in-

creased guiding lengths) and the precentering web, the RIN 7015.0

Locking Assembly has excellent centering ability.

Example applications:
Belt drums, crusher rotors, precision drives

L ¥ f

f / i

e —
T

RfN 7015.0

B>L+2x(Ly-L)

Locking Assembly RfN 7015.0 - Typical installation

L1

Locking Assembly RfN 7015 - Dimensions

Drive unit for high-speed elevator




Locking Assembly dimensions Transmissible Surface Locking screws Weight min. Dy*
torques or Pressure | p)N EN 1SO 4762-12.9

axial forces i
Shaft | Hub Thread RpO0,2[psi]
dxD L, T Fax | Pw Pn dg Ta 36000 45000 62000| Tpax

mm Inch Ib-ft Ibs psi mm Ib-ft Inch Ib-ft
100 x 145( 3937 5.709 2559 | 2362 | 3031 | 10622 65198 | 27559 18856 10 M12x55 107 9.0 8922 | 8091 | 7318 12540
110 x 155[ 4331 _03321 6.102 +0.'[?021 2559 | 2362 | 3031 | 11692 65198 | 26108 17405 10 M12x55 107 97 9176 | 8403 | 7.668 13868
120 165 15306 78687 20306 M12x55 107 10564 | 9.480 | 8495 18146
130 180 20128 96673 20306 M12 x 60 107 11525 | 10.343 | 9.268 24342
140 190 26776 | 116906 23207 M12x60 107 13233 | 11599 | 10187 | 31718
150 200( 5.906 +0 | 7874 0 2913 | 2677 | 3.386 | 28768 [ 116906 | 29009 21751 18 M12 x 60 107 16 13344 | 11.841 | 10507 | 34005
160 210| 6209 |-00025 | g268 (+00025| 2913 | 2677 | 3.386 | 35775 | 134892 | 31910 24658 il M12x 60 107 17 15300 | 13.231 | 11.496 | 42340
170 225 44701 | 159622 23207 M14x 65 170 15671 | 13.736 | 12064 | 53183
180 235 47282 | 159622 23207 M 14 x 65 170 16.368 | 14.347 | 12.601 56282
190 250 55470 | 177608 20306 M14x75 170 16.007 | 14.365 | 12872 | 66018
200 260( 7.874 +0 (10236 - 3701 | 3465 | 4.252 | 70075 | 213679 23201 M14xT75 170 18109 | 15.873 | 13.941 83427
220 285| 8661 |-0.0028 | 11220 (+0.0028| 4004 | 3858 | 4724 | 80402 | 222572 | 26108 20306 18 M 16 x 90 262 44 18.246 | 16.375 | 14.672 | 93090
240 305 116546 | 296763 26108 M 16 x 90 262 23297 | 19.849 | 17.050 | 135430

260 x 325| 10.236 12.195 4094 | 3858 | 4724 | 131299 | 308004 | 31910 | 24658 25 M16x90 | 262 51 23677 | 20476 | 17.790 | 152764
280 x 355| 11.024 _0_5332 13976 +0._[:][132 4961 | 4724 | 5669 | 164124 | 357464 | 27559 | 21757 | 24 | M18x110| 358 78 | 23685 | 21.018 | 18649 | 193187
300 x 75| 1181 14.764 4961 | 4724 | 5669 | 182933 | 370953 | 26108 | 21757 | 25 | M18x110| 358 82 | 25021 | 22203 | 19701 | 215611
| 320 x 405| 12598 15.945 5591 | 5315 | 6.378 | 253746 | 481115 | 27559 | 21757 | 25 | M20x120| 509 13 | 27022 | 23979 | 21217 | 292325
310 x 425| 13386 16732 5591 | 5315 | 6.378 | 269237 | 481115 | 26108 | 20306 | 25 | M20x120| 509 19 | 27210 | 24419 | 21.880 | 310618
360 x 45| 14173 _0_5335 17913 +u._uul]35 6495 | 6220 | 7.362 | 354065 | 600270 | 26108 | 20306 | 25 | M22x130| 686 166 | 20131 | 26143 | 23425 | 406216
380 x 475| 14961 18.701 6495 | 6220 | 7.362 | 374719 | 600270 | 24658 | 18856 | 25 | M22x130| 686 176 | 29227 | 26503 | 23971 | 428787
400 x 495| 15748 19.488 6495 | 6220 | 7.362 | 394635 | 600270 | 23207 | 20306 | 25 | M22x130| 686 183 | 31692 | 28441 | 25485 | 451359
420 x 515/ 16.535 20.276 6496 | 6.220 | 7.362 | 496797 | 719424 | 26108 | 21757 30 M22x130( 686 191 34.362 | 30492 | 27.056 | 568717
40 x 545(17.323 21457 7087 | 6772 | 8031 | 601172 | 831835 | 26108 | 20306 | 30 | M24x150| 885 A3 | 34894 | 31315 | 28059 | 700458
460 x 565 18.110 -0.;338 22.244 +[].-[;]038 7087 | 6.772 | 8.031 | 628465 | 831835 | 24658 | 20306 30 M24x150( 885 251 36.174 | 32463 | 29.089 | 732324
480 x 585| 18.898 23.031 7.087 | 6.772 | 8.031 | 699278 | 888040 | 26108 | 20306 32 M24x150( 885 262 37454 | 33612 | 30118 | 815087
500 x 605 19.685 23819 7.087 | 6.772 | 8.031 | 728783 | 888040 | 24658 | 20306 32 M24x150( 885 m 38.735 | 34762 | 31.148 | 822537
520 x 630| 20472 24.803 7874 | 7480 | 8937 | 829102 | 971223 | 23207 | 18856 | 30 | M27x160| 1180 36 | 38763 | 35151 | 31793 | 993225
50 x 650( 21.26 25,591 7874 | 7480 | 8937 | 860820 | 971223 | 21757 | 18856 | 30 | M27x160| 1180 310 | 39.995 | 36268 | 32803 | 1031435
560 x 670 22.047 _03341 2378 +ﬂ.-(;]041 7874 | 7480 | 8937 | 892538 | 971223 | 21757 | 17405 | 30 | M27x160 1180 353 | 30668 | 36323 | 33149 | 1069644
580 x 690 22.835 21.165 7874 | 7480 | 8937 | 924257 | 971223 | 20306 | 17405 | 30 | M27x160 1180 364 | 40852 | 37.406 | 34138 | 1107854
600 7874 | 7480 | 8937 | 1017936 | 1036421 | 21757 | 17405 | 32 | M27x160| 1180 375 | 42087 | 38492 | 35128 | 1222482
T = T ;
* Bz L+2x (L1-L) necessary More sizes on request
1
I
- | - i | \
B Mounting of Locking Assembly B Location of several Locking Assemblies RfN 7015.0
The values for T, F,, pw and p, apply to Locking Assemblies Two RfN 7015 Locking Assemblies can be used in series,
installed in oiled condition. the transmissible torques and axial forces are added.
m Surface finishes m Change of screw tightening torques
For shafts and hub bores A reduction of the contact pressures and the transmission
R, = 125 RMS values by reducing the tightening torque of the screws is possi-
ble. The admissible lower limit is a 20% reduction of tightening
m Tolerances torque.There is an approximate linear relationship between T,
We recommend the following mounting tolerances Ta Fax pw a@nd pp.

schaft: h8 - : H8 - see table above




Characteristics
Locking Assembly for transmission of torques, axial forces and
high bending moments at reduced contact pressures, with special
requirements for concentricity of connected components
Low surface pressures — The RfN7015.1 Locking Assembly
can transmit torques and axial forces and bending loads with signi-
ficantly lower surface pressures.
Bending moment and radial loads — Combined loads
can be transmitted, please contact our specialists for as-
sistance.
Excellent centering ability — With a relatively wide design (gi-
ving increased guiding lengths) and the precentering web, the
RfN7015.1 Locking Assembly has excellent centering ability.

Example applications:
Conveyor pulleys, gears

RfN 7015.1

B>L+2x(Ly-L)

Locking Assembly RfN 7015.1 - Typical installation

L1

Jaw crusher




Locking Assembly dimensions Transmissible Surface Locking screws min. Dy*
torques or | Pressure | p)\ EN |SO 4762-12.9

axial forces
Thread RpO0,2[psil
dg 36000 45000 62000

Inch Ib-ft Ibs psi mm Ib-ft Ibs Inch Ib-ft
100 x 145 3937 5709 2559 | 2362 | 2953 | 4942 | 29227 | 13054 | 8703 9 M0x55| 61 90 6944 | 6673 | 6390 | 5680
110 x 155| 4331 _0_5321 6.102 +u.-anz1 2559 | 2362 | 2953 | 6049 | 33723 | 13084 | 8703 10 | Mi0x55| 61 97 7422 | 7132 | 6830 | 6934
7893 | 40468 | 14504 | 10153 M10 x 55 7797 | 141 9073
10696 | 49460 | 13054 | 10153 M10 x 60 8506 | 8.085 | 12319
11564 | 49460 | 13054 | 8703 M10 x 60 8743 | 8313 | 13217
150 x 200 5906 | +o | 7874 | .o | 2913 | 2677 | 3307 | 13277 | 53957 | 13054 | 8703 16 | MI0x60| 61 16 9578 | 9203 | 8814 | 15195
160 x 210| 6299 |-0.0025| g268 |+0.0025| 2913 | 2677 | 3307 | 16228 | 62950 | 13054 | 10153 18 | M10x60| 61 17 10402 | 9923 | 9432 | 18220
20432 | 74191 | 13054 | 10153 12 x 65 10631 | 10106 | 24194
23014 | 78667 | 13054 | 10153 M12 x 65 11104 | 10555 | 27292
27366 | 87680 | 11604 | 8703 M12 x 75 11504 | 11.018 | 32456
200 x 260 7874 | 4o |10236| -p | 3701 | 3465 | 4173 | 32013 | 96673 | 13054 | 10153 M12x 75 12.285 | 11678 | 37914
220 x 285| 8661 |-0.0028 | 11220 |+0.0028( 4094 | 3858 | 4567 | 40570 | 112410 | 11604 | 8703 7 M12x80| 107 4 13648 | 13.114 | 12559 | 43816
51634 | 130396 | 13054 | 10153 M12x 80 14412 | 13699 | 54659
66387 | 155126 | 13054 | 10153 M12x 80 15.357 | 14597 | 66608
280 x 35| 11.024 _0_5332 13976 +n.-nnuaz 4961 | 4724 | 5512 | 88516 | 188601 | 13054 | 10153 28 [M14x100[ 170 18 17583 | 16774 | 15944 | 102605
92204 | 186601 | 13054 | 10153 M14 x 100 17.720 | 16843 | 109981
137053 | 260791 | 14504 | 11604 M16x 110 19657 | 18541 | 158592
) ) 147527 | 260791 | 13084 | 10153 M16x 110 20082 | 19.089 | 168550
+ K

360 x  455| 14173 17913 6496 | 6.220 | 7.205 | 158739 | 269784 | 10153 8703 24 M18x140| 358 166 21.789 | 20936 | 20.051 | 187064
-0.0035 +0.0035

188835 | 303507 | 11604 8703 M18 x 140 21.858 | 20933 | 222102

236043 | 359712 | 13054 | 10153 M18 x 140 23390 | 22233 | 2129

258172 | 359712 | 13054 | 10153 M18 x 140 24336 | 23.132 | 290923

21457 7087 | 6772 | 7874 | 289891 | 402428 | 11604 10163 2 M20x 140| 509 243 26994 | 25753 | 24.479 | 326920

-[].50038 20.244 +I].-ﬂnﬂ38 7087 | 6772 | 7874 | 303537 | 402428 | 11604 8703 2 M20x 140| 509 261 21.057 | 25999 | 24.899 | 341820
23.031 7087 | 6772 | 7874 | 343000 | 433903 | 11604 10153 30 M20x 140| 509 262 28975 | 27642 | 26275 | 396331

23819 7087 | 6772 | 7874 | 357753 | 433903 | 11604 10153 30 M20x 140 509 m 20966 | 28.588 | 27.174 | 412854

24.803 7874 | 7480 | 8661 | 396848 | 465378 | 10153 8703 32 M20x150| 509 326 30169 | 28.989 | 27.764 | 457998

25591 7874 | 7480 | 8661 | 413076 | 465378 | 10153 8703 32 M20x 150 509 340 31.128 | 29910 | 28646 | 475553

26.378 7874 | 7480 | 8661 | 480200 | 521583 | 11604 10153 36 M20x150| 509 353 33185 | 31.659 | 30.093 | 554849

0;3 1 21.165 +|]._l:]l] " 7874 | 7480 | 8661 | 498641 | 521583 | 10153 8703 36 M20x150| 509 364 33042 | 31.750 | 30408 | 574691
21.953 7874 | 7480 | 8661 | 516344 | 521583 | 10153 8703 36 M20x150| 509 375 34001 | 32671 | 31.290 | 594460

28.740 7874 | 7480 | 8661 | 531097 | 521583 | 10153 8703 36 M20x150| 509 386 34958 | 33591 | 32171 | 614302

29.528 7874 | 7480 | 8661 | 549538 | 521583 | 10153 8703 36 M20x150| 509 397 35917 | 34512 | 33.053 | 634145

* Bz L+2x (L1-L) necessary More sizes on request

Mounting of Locking Assembly B Location of several Locking Assemblies RfN 7015.1

The values for T, F,, pw and p,, apply to Locking Assemblies Two RfN 7015.1 Locking Assemblies can be used in series,
installed in oiled condition. the transmissible torques and axial forces are added.
m Surface finishes m Change of screw tightening torques
For shafts and hub bores A reduction of the contact pressures and the transmission va-
R, <125 RMS lues by reducing the tightening torque of the screws is possi-
ble. The admissible lower limit is a 50% reduction of tightening
B Tolerances torque. There is an approximate linear relationship between T,
We recommend the following mounting tolerances Ta s Fax pw and py.

shaft: h8 - hub: H8 - see table above




RINGFEDER® Locking Assemblies for Bending Moments

VA
sl N

o —

L st <

i il




Ty llmﬂ ‘li'l

\;‘..J’#I ‘

W

RINGFEDER Lockmg Assemblies for Bending Moments




RINGFEDER® Locking Assemblies for Bending Moments

Typical belt drum application

The bending moment acting on the hub/shaft connection is the
main load to evaluate in a conveyor pulley or similar application.
Excessive bending moments can cause overstress in the webs
between the screw holes in the Locking Assembly. In the case of
additional loads (bending moments/ radial loads) screw tightening
torques may have to be reduced. To limit the influence of the
bending load on the Locking Assembly connection we use the two
following criteria during the conveyor pulley design process:

a) Shaft deflection from the bending moments can only
have a maximum deflection fm < 1/2000 * L (bearing
center distance).

b) The permissible bending load values as shown in the
following tables.

NEW: The new Locking Assembly series RINGFEDER® RfN
7012.2 is specifically designed to provide a connection solution
for ever increasing bending moments for conveyor pulleys.

The challenge was to develop a product with the same dimensions
as the standard RINGFEDER® RfN 7012 to fit into existing end
discs — A\ yield point of end disc has to be checked — so that
existing material handling equipment can be upgraded. At the
same time the Locking Assembly should carry more torque than
the standard RINGFEDER® RfN 7012.

To comply with these requirements, we have combined our
customer's experiences with our 80 years in the Locking Device
business. The result is the brand new RINGFEDER® RfN 7012.2.
A table showing the 7012.2 capability can be found on page 31.

This diagram shows the correlation between the surface pressures
derived from the clamping and the bending moments. Basic
limitations for the superposition of these surface pressures are
additionally shown.



ending Moments

Tp red. M, T
mm Inch Ib-ft Ibs Ib-ft psi

100X 145 92 1316 1844 58018 40613
110X 155 92 7598 3246
120X 165 92 8704 5680
130X 180 92 1212 8718
140X 190 92 12023 11802
150 X 200 92 12161 14974
160 X 210 92 11876 19400
170X 225 140 19105 18367
180X 235 140 21023 2211
190 X 250 140 28620 24
200 X 260 140 29505 268694
220X 285 218 37619 39537
240 X 305 218 38283 48241
260 X 325 218 40791 64838
280 X 355 299 60486 74501
300X 375 299 61224 86303
320 X 405 428 92942 114333
340 X 425 428 97368 128348
360 X 455 575 139413 | 163017
380 X 475 575 143101 | 182933
400 X 495 575 148002 | 202850
420X 515 575 159329 | 238256
440 X 545 138 206538 | 307594
460 X 565 138 213914 | 307594
480 X 585 738 217602 | 336362
500 X 605 138 229404 | 372506
520 X 630 738 232355 | 402749
540 X 650 138 238994 | 431516
560 X 670 738 250058 | 472086
580 X 690 138 260385 | 514132
600X 710 23622 21953 38 269974 | 544375
620X 730 24.409 28.740 138 269237 | 580619
640 X 750 25197 29528 138 IQBEZUZ 638054

Legend

d, D = Basic dimensions, Locking Assembly not tightened

Ta = maximum tightening torque for the screws used in determining

the values T, p,, and p,,

Mp, = transmissible bending moment

T = transmissible torque at max. bending moment

pw = surface pressure between Locking Assembly and shaft at maximum
bending moment

pn = surface pressure between Locking Assembly and
hub at maximum bending moment

318 =



RINGFEDER® Locking Assemblies for Bending Moments

mm Inch Ib-ft lbs Ib-ft psi mm Inch Ib-ft Ibs Ib-ft psi
100X 145 3931 5.709 85 8040 2129 26864 19871 100X 145 3931 5.709 61 4500 2065 16245 11168
110X 155 4.331 6.102 85 8040 4573 26108 18566 110X 155 4.331 6.102 61 5016 3393 16390 11604
120X 165 4724 6.496 85 9589 1316 28119 20886 120X 165 4124 6.496 61 5975 5163 17986 13054
130X 180 5118 7.081 85 13211 9663 26864 20886 130X 180 5118 7.087 61 8114 6934 17405 12619
140X 190 5512 7.480 85 14015 15785 31040 22917 140X 190 5512 7.480 61 8114 8188 16100 11894
150X 200 5.906 1874 85 15859 16375 30024 22482 150 X 200 5.906 1874 61 8630 10106 16100 12039
160X 210 6.299 8.268 85 14753 24194 31185 23181 160X 210 6.299 8.268 61 9737 12982 16970 12909
170X 225 6.693 8.858 136 23604 2107 32490 24513 170X 225 6.693 8.858 107 12835 15859 17260 13054
180X 235 1.087 9.252 136 23973 29505 30895 23642 180 X 235 1081 9.252 107 13425 18662 17260 13199
190 X 250 7480 9.843 136 30612 32456 26978 20451 190 X 250 7.480 9843 107 18072 20506 15810 12039
200 X 260 7874 10236 136 18441 53257 m2 20886 200 X 260 1874 10236 107 19916 25080 16535 12764
220 X 285 8.661 11.220 210 44996 46250 21559 21322 220X 285 8.661 11.220 107 25522 31497 15665 12039
240X 305 9.449 12.008 210 33194 87179 30169 23187 240X 305 9.449 12.008 107 28768 42851 16245 12764
260 X 325 10236 12.795 210 31349 100318 26864 23062 260 X 325 10236 12.795 107 32072 57609 17115 13634
280 X 355 11.024 13976 268 88516 98105 26574 22482 280 X 355 11.024 13976 170 54585 69706 17405 13179
300X 375 11811 14.764 268 92942 113596 21704 22192 300X 375 11811 14.764 170 54659 74501 16390 13054
320 X 405 12.598 15.945 406 114333 | 166705 28139 2192 320 X 405 12598 15.945 262 83353 108432 18421 14504
340X 425 13.386 16.732 406 130561 | 169656 21268 21757 340X 425 13.386 16.732 262 81877 122447 17260 13179
360 X 455 14173 17913 550 184409 | 215389 26543 21032 360 X 455 14173 17913 358 97368 124660 13924 11023
380 X 475 14.961 18.701 550 183671 | 236781 25093 20016 380 X 475 14.961 18.701 358 109908 | 153428 14340 11894
400 X 495 15.748 19.488 550 184409 | 256697 23932 19291 400 X 495 15.748 19.488 358 130561 | 196949 16680 13489
420X 515 16.535 20.276 550 221290 | 330460 21413 22331 420X 515 16535 20276 358 130561 | 222766 15955 13054
440 X 545 17323 21457 708 212925 | 395372 26978 21757 440 X 545 17323 21457 509 151953 | 247108 15230 12329
460 X 565 18110 22.204 708 212925 | 421921 25818 21032 460 X 565 18.110 22204 509 155641 | 260385 14650 11894
480 X 585 18.898 23.031 708 291366 | 477250 26398 21612 480 X 585 18.898 23.031 509 172607 | 296529 15520 12764
500 X 605 19.685 23819 708 201366 | 504542 25238 20886 500 X 605 19.685 23819 509 174082 | 312157 14650 12474
520X 630 20472 24.803 1062 390946 | 635104 M2 22331 520X 630 20472 24.803 509 200637 | 342263 13179 11314
540 X 650 21.260 25591 1062 390946 | 668297 25963 21612 540 X 650 21.260 25.591 509 202112 | 359966 13489 11168
560 X 670 22,007 26378 1062 390946 | 701491 25093 21032 560 X 670 22,047 26318 509 207929 | 422665 14650 12184
580 X 690 22.835 21.165 1062 302422 | 733209 24368 20451 580 X 690 22835 21.165 509 200001 | 445531 13179 11604
600X 710 23622 21.953 1062 417501 | 815824 24948 21032 600X 710 23622 21953 509 204979 | 464710 13344 11314
620X 730 24.409 28.740 1062 422665 | 848280 24223 20741 620X 730 24409 28.740 509 226454 | 480200 12909 11023
640 X 750 424878 | 881474 23642 20016 640 X 750 25.197 29528 509 226454 | 500854 11894 10733




Explanation to tables RfN 7012.2,
RfN 7015.0 and RfN 7015.1

A bending moment, created by radial forces, results in an
additional load for the Locking Assembly, shaft and hub. This
additional load works in rotation and has to be superpositioned
with the loads resulting from the Locking Assembly pressure.
Foraviable connection, a minimum surface pressure at the contact
areas between Locking Assembly, shaft and hub must be
maintained.

Additionally, the above listed torque values (T) have been
reduced due to the additional bending moments. To achieve
lower stresses for the Locking Assemblies RfN 7015.0, the screw
tightening torques (Ta) have also been reduced.

SR
RINGFEDER® Locking Assemblies for Bending Moments

Legend

d, D = Basic dimensions, Locking Assembly not tightened

Ta = maximum tightening torque for the screws considered in order to
determine the values T, p,, and p,

Mp, = transmissible bending moment

T = transmissible torque at max. bending moment

pw = surface pressure between Locking Assembly and shaft at maximum
bending moment

pn = surface pressure between Locking Assembly and hub at maximum

bending moment

33~ | &



T

RINGFEDER® Locking Elements

J—




RfN 8006
solid
RfN 8006
slit




Characteristics

Customized application - By varying the number of Locking Elements, size, quantity and

number of clamping screws, the connection can be adapted to fit most applications concer-
ning surface pressures, materials, hub/shaft dimensions and available mounting space.

progression (see page 41).

Transmission of high loads — up to 4 Locking Elements can be used in series, the trans-
missible torques and axial forces are not multiplied but increase according to a geometric

Maximum reliability — No matter whether the connection is subjected to static, pulsating,
dynamic or intermittent loads.

Simple manufacture — Shaft and hub are designed without keyway. Apart from this,
relatively large tolerances are admissible.

Easy adjustability — Locking Element connections can be adjusted at any time to any
position by following the simple removal and assembly instructions.

wear or loosen in service provided the maximum transmissible values for the connection
are not exceeded.

Backlash-free — The Locking Element connection is a mechanical shrink fit and will not
High fatigue strength under alternating torsional stresses — As neither the shaft

nor hub features grooves, the notch effect is minimized, thus giving a higher polar section
modulus and allowing smaller diameters to be designed in.

Easy mounting — Hubs can be located at any point on the shaft and adjusted to precise
angles. Only a few standard screws are then tightened to a specific torque value, no skilled
assembly work is required.

equipment is required.

Easy removal — Locking Elements are self releasing. No additional measures or auxiliary

Wear and maintenance-free — Unlimited lifetime if designed and used correctly.



Explanations to tablés’:

d, D, L, | = Basic dimensions, Locking Elements not tightened

C, = shaft tolerances

C, = hub bore tolerances

C, = bore tolerances

A, = effective bearing surface A, = - d- |

X = travel distance for 1,2,3 or 4 Locking Elements. This

value includes a safety allowance to ensure that the
thrust flange will not contact the face of the hub or
shaft. Any reduction of this value could cause a block
and the transmission values of the connection would
not be achieved.

T = transmissible torque

F,, = axial forces

T and F,, refer to a pressure between the Locking Element

and shaft of 14500 psi .

When solid Locking Elements the required total clamping

force F, is obtained by:

Fn, =Fy+Fg

F,- = Screw number x Fv, see screw table page 40

Fo = approximate clamping force required to bridge the
clearances where the tolerances given in the table
are fully exploited during manufacture, not applicable
if slit Locking Elements are used.

d; = clamp plate bore

D, = spacer sleeve OD

T.ax = transmissible torque by one Locking Element at a
shaft contact pressure of = 47850 psi




RINGFEDER® Locking Element RfN 8006 - Typical installation

[a) ©

V-belt pulley




Locking Assembly dimensions

Inch

Transmissible

torques or
axial forces

T

Fax

Ibs 10-3

Inch

100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250

10
"
12
13
14
15
16
18
18
20
21
22
24
25
26
28
30
32
35
36
40
42
44
45
48
52
55
57
62
64
68
n
73
79
80
84
91
96
101
106
114
124
134
148
158
168
178
191
201
m
224
234
244
257
267
280

0236
0276
0315
0.354
0394
0433
0472
0512
0551
0.591
0.630
0.669
0.709
0.748
0.787
0.866
0.945
0.984
1102
1.181
1.260
1378
1417
1496
1575
1.654
1172
1.890
1.969
2165
2.205
2.362
2480
2559
2756
2195
2953
3.150
3.346
3.543
3.740
3937
4331
47124
5118
5512
5.906
6.299
6.693
7.087
7480
1874
8.268
8.661
9.055
9.449
9.843

0
+0.0006
+0
-0.0004
Il
+0.0007
+0 -0
-0.0005 | +0.0008
+0 -0
-0.0006 | +0.001
+0 -0
-0.0018 | +0.0018
+0 -0
-0.0022 | +0.0022
+0 -0
-0.0025 | +0.0025
+0 Rl
-0.0028 | +0.0028

0.354
0384
0433
0472
0512
0551
0591
0630
0.709
0.748
0.787
0.827
0.866
0945
0984
1.024
1102
1181
1.260
1.378
1417
1575
1.654
17132
1172
1.890
20847
2165
2244
244
2520
2611
2.795
2874
3110
3150
3307
3583
3.780
3976
4173
4488
4.882
5216
5.821
6.220
6.614
7.008
1520
1913
8.307
8.819
9213
9.606
10.118
10512
11.024

0
+0.0006

0
+0.0007

0
+0.0008

+0.001

R
+0.0018

!
+0.0022

0
+0.0025

0
+0.0028

!l
+0.0032

0177
0177
0177
0177
0177
0177
0177
0171
0.248
0.248
0.248
0.248
0.248
0.248
0.248
0.248
0.248
0248
0248
0.248
0.248
0.276
0276
0.276
0315
0315
0384
0.384
0394
0.394
0472
0472
0472
0472
0.551
0.551
0.551
0.669
0.669
0.669
0669
0.827
0.827
0.827
1102
1102
1102
1102
1.299
1.299
1.299
1.49
1496
1496
1693
1.693
1.890

0.146
0.146
0.146
0.146
0.146
0.146
0.146
0.146
0.209
0.209
0.209
0.209
0.209
0.209
0.209
0.209
0.209
0.209
0.209
0.209
0.209
0.236
0.236
0.236
0.260
0260
0339
0339
0339
0339
0.409
0.409
0.409
0.409
0480
0480
0480
0591
0591
0591
0591
0.736
0.736
0.736
0.996
0.996
0.996
0.996
1181
1181
1181
1.370
1370
1370
1.555
1.555
1.732

0107
0124
0.140
0163
0.180
0198
0215
0234
0.361

0.388
0412
0439
0465
0480
0516
0.567
0620
0645
0722
0.773
0.826
1.021

1.051

1110
1.285
1.349
1.883
2.009
2.093
2.302
2.835
3.036
3188
3.291

4157
4216
4453
5.840
6.206
6.570
6.936
9102
10011
10921
16.008
17.239
18.470
19.702
24822
26.282
21.182
33.874
35.568
31.262
aunt
46139
53.785

1563

1686

1551

1439

2518

2406

21

2136
2046
2833
2698
2023
1866
2026
1664
1911

1754
2N

2608
2473
3103
3507
5868
5531

5283
4901

6610
6160
5913
5710
6969

6969
1178

10791
10252
9757
9263

13647
14838
13534
21628
20009
18997
17648
26416
25000
23606
30126
28552
21428
37095
35409
42716

124
1281
1416
1551
1686
1844
2833
3035
3237
3440
3642
3844
4047
4451
4856
5058
5665
6070
6475
8004
8228
8701
10117
10567
14838
15737
16412
17986
22251
23831
24955
25854
32599
33049
34847
45638
48561
51484
54406
71268
78462
85432
125450
134892
144559
154221
194469
205935
217176
265288
218552
291817
346223
361960
420414

5.2
59
14
89
148
170
192
214
24
21
30
35
]
46
58
66
75
102
108
120
147
162
242
215
299
361
454
520
575
612
826
856
952
1335
1505
1689
1881
2596
3135
3125
5938
6897
7893
8999
12023
13499
15048
19326
21318
23383
29063
31718
38357

315
331
315
401
629
674
iy
764
809
862
899
989
1079
124
1259
1349
1439
1776
1844
1833
2231
2338
3282
3507
3642
4002
4946
5283
5576
5755
7194
1329
1734
10117
10791
11466
12140
15737
131
18885
21878
30126
32149
34285
43165
45863
48112
58903
61826
64748
76888
80486
93300

0.079
0.079
0.079
0118
0118
0118
0.118
0.118
0.118
0118
0.118
0.118
0.118
0118
0.118
0.118
0.118
0118
0.118
0118
0.118
0118
0.118
0118
0118
0118
0.118
0.118
0.118
0.118
0.118
0118
0.157
0157
0.157
0.157
0.157
0.157
0.157
0197
0197
0197
0197
0.236
0.236
0.236
0.236
0.236
0.236
0.236
0.236
0276

0.079
0.079
0.079
0.079
0118
0.118
0118
0118
0118
0118
0118
0118
0118
0118
0118
0118
0118
0118
0118
0118
0157
0157
0157
0157
0157
0.157
0.157
0157
0157
0157
0197
0197
0197
0197
0197
0197
0197
0.236
0.236
0.236
0.276
0.276
0276
0276
0315
0315
0315
0.315
0315
0315
0.354
0.354
0394

0.118
0.118
0.118
0118
0.157
0157
0.157
0157
0.157
0157
0157
0157
0157
0157
0157
0.157
0.157
0157
0.157
0157
0197
0197
0197
0197
0197
0197
0197
0197
0197
0197
0.236
0.236
0.236
0.236
0.236
0.236
0.236
0276
0.276
0276
0.354
0.354
0.354
0.354
0.394
0.394
0394
0433
0433
0433
0472
0472
0512

0.118
0118
0.118
0118
0197
0197
0.197
0197
0197
0197
0197
0197
0197
0197
0197
0197
0197
0197
0197
0197
0.236
0236
0.236
0236
0.236
0236
0276
0276
0276
0276
0276
0276
0276
0315
0315
0315
0315
0.354
0.354
0.354
0433
0433
0433
0433
0472
0472
0472
0512
0512
0512
0.551
0.551
0.630

33
31
33
37
40
44
49
5.1
108
n
121
128
135
172
18.1
159
174
221
198
265
221
441
441
441
441
66
110
110
110
110
154
154
176
176
243
243
265
265
in
i
485
882
882
1103
1874
2007
2138
2248
3308
3528
3749
5072
5513
5513
7497
ms
10364

0.240
0280
0319
0.358
0.398
0437
0476
0516
0.555
0594
0.634
0673
0.713
0.756
0.795
0.874
0.953
0.992
1110
1.189
1.268
1.386
1425
1.504
1583
1.661
1.780
1.898
1976
2173
2213
2.310
2488
2.567
2.768
2.807
2.965
3161
3.358
3555
3.752
3949
4.343
4136
5134
5.528
5921
6.315
6.713
1106
7500
1.898
8.291
8.685
9.079
9472
9.874

0350
0380
0429
0469
0.508
0.547
0.587
0626
0.705
0.744
0.783
0823
0.862
0937
0976
1.016
1.084
1173
1.252
1370
1.409
1.567
1.646
1724
1.764
1.882
2,039
2157
2236
2433
2512
2.669
2187
2.866
3.098
3138
3295
351
3.768
3.965
4161
4476
4870
5.264
5811
6.205
6.598
6.992
7500
7.894
8.287
8.795
9.189
9.583
10.094
10.488
10.992

89
108
138
172
2%
30
36
42
48
67

16 \\
3 4

9% E\
126

126 \
186
164
250
32
363
316
128
553
638
699
859
1007
170
1299
1389
1816
1869
2067
2882
217
3696
nn
5866
7060
8472
127194
14330
17199
19648
25739
28951
32352
41035
45348
49751
61131
66689
80543

* Slit only. For slit Locking Elements Fq is eliminated in the calculation.

8006

To continue see next page

39—




. 1) Ty = tightening torque (Nm)
‘Fy = initial clamping force (N)
(screws oiled, ot = 0.14)

Locking screw table

Locking screw calculation

The torque transmission capacity of a RINGFEDER® Locking Ele-
ment connection is directly proportional to the effective clamping
force Fa. Clamp force is normally achieved via clamping screws
and a thrust plate.

Regular thread 1), metric

8.8 10.9 129
da Ta Fy Ta Fy Ta Fy
M4 2.9 3900 4.1 5450 4.9 6 550
M5 6.0 6 350 8.5 8950 10 10 700
M6 10 9000 14 12 600 117 15100
M8 25 16 500 35 23 200 M 27900
M10 49 26 200 69 36 900 83 44 300
M12 86 38 300 120 54 000 145 64 500
M14 135 52 500 190 74 000 230 88 500
M16 210 73 000 295 102 000 355 123 000
M18 290 88 000 405 124 000 485 148 000
M20 410 114 000 580 160 000 690 192 000
M22 550 141 000 780 199 000 930 239 000
M24 710 164 000 1000 230000 1200 276 000
M27 1050 215 000 1500 302000 1800 363 000
M30 1450 262 000 2000 368 000 2400 442 000
1 Nm = 0.738 Ib-ft
1N =0225Ib
Regular thread , Inch
BOLT  BOLT BOLT  BOLT
SIZE DIA. Fv Ta SIZE DIA. Fv Ta
Inch Inch lbs lb-in Inch Inch Ibs Ib-ft
4-40 0.112 540 12 1/4"-20 0.25 2850 12
4-48 0.112 600 13 1/4"-28 0.25 3250 14
6-32 0.138 820 23 5/16"18 03125 4700 25
6-40 0.138 920 25 5/16"-24 03125 5200 25
8-32 0.164 1260 | 3/8"-16 0375 6950 45
8-36 0.164 1320 43 3/8"-24 0375 7900 50
10-24 019 1580 60 71614 04375 9600 70
10-32 019 1800 68 7/16"20 04375 10700 80
1/2"13 05 12800 110
1/2"-20 0.5 14400 120
9/16"12  0.5625 16400 150
9/16"-18  0.5625 18300 170




Locking Assembly dimensions Transmissible| Weight
torques or

axial forces

RfN 8006

Inch

Ib-ft

Ibs

1b-ft

260 x 290
270 x 300
280 x 313
290 x 323
300 x 333
320 x 360
340 x 380
360 x 400
380 x 420
400 x 440
420 x 460
440 x 480

R
+0.0032

R
+0.0035

R
+0.0038

147
1181
12.323
1211
13.110
14173
14.961
15.748
16.535
17.323
18.110
18.898

0
+0.0032

0
+0.0035

0
+0.0038

55.955
58.125
66.805
69.130
71610
91.915
97.650
103.385
109.120
115.010
120,580
126.325

438399
456385
523831
541817
559802
719424
764388
809353
854317
899281
944245
989209

41676
44996
53479
57167
61224
84090
94786
106219
118390
131299
144576
158592

97797
101169
116906
120279
124775
159622
169739
179856
189973
200090
210207

87249
9M57
111663
119337
127854
177231
200420
224858
249923
217097
305640

B Mounting of Locking Element

The values for T, F,,, pw and p,, apply to Locking Elements
installed in oiled condition.

Surface finishes
For shafts and hub bores
R, = 63 RMS

Required screw tension force
for Locking Elements solid: Fa=Fa + Fg
for Locking Elements slit: Fa=Fa

Where n-Locking Elements are used one behind the other
(series), the following applies to the increase in T and Fyy
Th=Ti-m and Fgpn=Fag-m

Retaining the values for T and F, it is possible to reduce Fp-
and p where:

Fan=Fa/m and p,=p/m

With 2 / 3 7 4 Locking Elements, m = 1.555 / 1.86 / 2.03
For tolerances see table on 39/41.

The fits specified have given excellent service in practical ope-

rations. Naturally, the shafts and the bores can feature other
clearances. Please contact our Technical Department.

1) approx. values

220324 335509

More sizes on request

m Undercut, clearence cut

The relatively narrow RINGFEDER® RfN 8006 Locking Ele-
ments mainly serve the purpose of transmitting large torques
and axial forces. They are not self-centering. The concentricity
accuracy of the clamped hub therefore depends on the cen-
tering and care with which installation is carried out. Locking
Elements RfN 8006 can center themselves within the frame-
work of their production accuracy if they are absolutely plane-
parallel when pressed together.

M




N
GSA

Aluminum Alloy*

Cleara

Clamp plate

. DN
)
/
B )/
——— Clearance
Shaft bolted Clamp Plate (hub axially fixed)
Explanations
d = shaft diameter
C; = machining tolerances for shaft d)
D = counter bore diameter
C, = machining tolerances for counter bore (D)
L, = width dimensions, relaxed condition
R =radius in hub bore
Fo = preload to bridge specified fit clearances
F, = actual locking force to generate T
T = transmissible torque for one Locking Element

based on coeffi-cientof friction of p= 0.15 and
10,000 psi contact pressure
(torque can be increased by up to 50%

F_. = axial load (thrust capacity)

Dy = Hub outer diameter

Sg = Clamp plate thickness



GSA dimensions

Transmissible
torques or
axial forces

* Stainless steel available upon request.

Ibs per 1000
GSA-250 02500 0.76
GSA-312 03125 0 1.04
GSA-375 03750 +0.0005 1.35
GSA-437 04375 220
GSA-500 05000 0.6562 0.193 0.158 94 1512 9% 376 269
GSA-562 05625 0.7500 +ﬂ_.gl]1 0210 0174 1259 1872 132 469 397
_ GSA-625 06250 08125 0.226 0.187 1231 2031 175 560 4.69
o GSA-687 06875 08750 0.243 0203 1414 2670 230 669 547

GSA-750 0.7500 -UI][IIJI 09375 0.260 0219 113 3145 295 87 6.33
GSA-812 08125 1.0312 0276 0234 1617 3637 310 9 8.56
GSA-875 08750 1.0937 K] 0293 0250 1611 4188 458 1047 1014
GSA-937 09375 1.1875 +0.0015 0310 0.267 2087 4790 561 1197 12.36
GSA-1000 1.0000 1.2500 0.326 0284 2090 5437 680 1360 14.05
GSA-1125 11250 +0 1.4060 0.359 0312 2220 6620 840 1493 19.55
GSA-1250 1.2500 -0.0015 15310 0393 0344 2240 8105 1140 1824 2354
GSA-1375 1.3750 1.6870 0426 0376 2145 9750 1510 2196 31.22
GSA-1500 1.5000 18120 0459 0.407 3030 11510 1940 2587 36.38
GSA-1625 1.6250 -UB?]Z 1.9680 +0'. gUQ 0492 0437 3295 13390 2450 3015 46.43
GSA-1750 1.7500 21250 0526 0.469 3585 15475 3045 3480 58.53
GSA-1875 1.8750 22500 0559 0500 3595 17675 3730 3979 66.22
GSA-2000 2.0000 24060 0592 0528 5365 19910 4480 4480 81.09
GSA-2250 2.2500 2.6560 0592 0528 4795 22400 5670 5040 90.30
GSA-2437 24315 2.8430 0592 0.528 4430 24260 6655 5461 97,01
GSA-2500 25000 -011%3 2.9060 +ng3 0592 0528 4330 24885 7000 5600 99.50
GSA-2687 26875 3.0930 0592 0528 4035 26750 8090 6020 106.26
GSA-2750 2.7500 3.1560 0.592 0528 3950 21310 8470 6160 108.70
GSA-3000 3.0000 34060 0592 0528 3890 29860 10080 6720 117.90
Fi

| * Delivery on request, other sizes stocked. Contact Ringfeder Corporation for additional sizes and information.

m Selection Guide

1. Determine the shaft diameter to be used and the maximum
torque (T) to be transmitted.

T= 63,000 (Ib-in) x HP
RPM

2. Select a locking element from the specification table for the
shaft diameter. Verify that the transmissible torque (T) for
the element meets the torque requirement.

Note: Required peak torque should never exceed specified
transmissible torque (T ). Higher torque capacitites can be
obtained by increasing the locking force.

3. Determine the required locking force (F,"). A pre-load (F)
is required to bridge the clearance for the specified fits.
The total required locking force is Fy=Fq+ Fj"

The locking force is normally obtained by using one or
more screws and a clamp plate.

4. Refer to screw tables on page 40 to determine the number,
size and grade of screws needed for the required locking
force and individual screw clamp load.

Clamp load/screw = required locking force (F,) or F’
number of screws (z)




RINGFEDER® stainless Products

<
<



Locking Assemblies

Locking Elements

RfN 7012

stainless

RfN 7061

stainless

o
RfN 7110

stainless

RfN 8006

solid
stainless

RfN 8006
slit
stainless




M|

RINGFEDER® Stainless Products

Characteristiés

Inexpensive manufacture — The large tolerances that are possible and the simple turning
process guarantee inexpensive manufacture.

Simple installation — Only a few screws need to be tightened, alignment to precise
angles between the hub and shaft is possible in any position, no difficult assembly work
is required.

Simple dismantling - RINGFEDER® Locking Assemblies come with with threaded ex-
traction holes, so that no additional auxiliary equipment is necessary, series RfN 7012 is
self-releasing.

High reversing load fatigue strength — Shaft and hub are not keyed, so that there is
no weakening of these components. Shaft and hub can be designed to be considerably
smaller (lighter, cost and space-saving design possible).

No danger of deflection — RINGFEDER® Locking Assemblies are absolutely backlash-
free.

Effect similar to overload protection — After the frictional connection force has been
exceeded the Locking Assemblies simply slip. Valuable machine parts are protected. The
Locking Assemblies are subject to the same laws as any other connection with force
transmission by friction - not suitable as overload protection.

Completely maintenance-free — No follow-up costs.




Explanations to tables

d,D,D,, LI L, L, = Basic dimensions,
Locking Assemblies not tightened

C, = shaft tolerances

C, = hub bore tolerances

C, = bore tolerances

T = transmissible torque

F.x = transmissible axial force

pw = surface pressure between Locking Assembly
and shaft

P, = surface pressure between Locking Assembly
and hub

n = quantity

d; = clamping thread

T, = maximum tightening torque for the screws
considered in order to determine the values
T, F,, p, and p,

Dy = minimum required outside hub diameter

R0, = minimum required yield point of hub material

d1 = clamp plate bore

D1 = spacer sleeve OD

Tmax = maximum theoretical transmissible torque

(vy)
[}

minimum hub width (calculation formula at
www.ringfeder.com)

47




RINGFEDER® Locking Assemblies RfN 7012-IN

stainless

Characteristics

As the industry standard the RfN 7012-IN stainless Locking Assembly is suitable for most
applications.

Transmission of high loads — Up to 4 RfN 7012-IN stainless Locking Assemblies can be used
in series, the transmissible torques and axial forces are added. (Please contact our specialists for
assistance).

Bending moment and radial loads — Combined loads can be transmitted, please contact
our specialist for assistance.

Low risk to contamination — During tightening process the functional surfaces of the
device are under pressure, sufficient enough to keep contaminants out, thereby preserving
the integrity of the the device.

Adjustable transmission values — The locking screw torque can be changed giving a
corresponding change in transmission values. RfN 7012-IN stainless Locking Assemblies
can be tightened and released repeatedly.

Example applications:

sprockets, gears, coupling hubs, conveyor pulleys, idler wheels, sheaves



Transmissible
torques or
axial forces

Locking Assembly dimensions

Surface
Pressure

3/4 0.787|0.669

1 0.787 |0.669
11/8 0.787 |0.669
13/16 0813 |0.669
11/4 0.787 |0.669
13/8 0.776 |0.669
1716 0.787|0.669
11/2 0 [0787|0.669
15/8 +0.0025 | 0.945 |0.787
111/16 0.945 |0.787
13/4 0945 |0.787
17/8 0945 |0.787
115/16 0945 |0.787

2 0945 |0.787
21/8 0945 |0.787
23/16 0945 |0.787
21/4 0945 |0.787

23/8 2375 3.531 0.996 |0.787) 1.370 | 1787 18058 | 25600
2116 24375 3.740 0945|0.787) 1.319 | 2098 20857 | 28450
21/2 2500 | +p |3740| o [0945|0.787)1.319| 2148 20621 | 27750
29/16 25625 | -0.003 | 3737 | +0.003 | 0959 |0.787| 1.333 | 2199 20596 | 27000
25/8 2625 4331 1.102|0.945) 1.555 | 3120 28526 | 30614
211/16 2.6875 4331 1.102|0.945) 1.555 | 3195 28532 | 29804
23/4 2750 4331 1.079|0.945/ 1.632 | 3320 28975 | 29850
27/8 2875 4528 1102 |0.945| 1.555 | 3450 28800 | 28450
215/16 29375 4528 1102 |0.945) 1.555 | 3522 28775 | 27750

17200
18500
18500
18500
18500
18500
18900
18000
18000

Locking screws min. Dy*
DIN EN ISO 4762-12.9
Thread Rp0,2[psi]
36000 45000 62000
Inch
Mgx18 5 2404 | 2218 | 2148
Mex18 5 2697 | 2525 | 23585
Mgx18 5 2868 | 2705 | 2542
Mgx18 5 2956 | 2768 | 2581
Mgx18 5 3325 | 3093 | 2866
Mgx18 5 3336 | 3101 | 2813
Mgx18 5 370 | 3427 | 3155 |
Mgx18 5 3695 | 3417 | 3148
MB8x22 ] 4510 | 414 | 374
MB8x22 ] 4310 | 3975 | 3653
M8x22 ] 4484 | 409 | 3730
M8x22 ] 4679 | 4298 | 3933
M8x22 ] 4640 | 4270 | 3916
M8x22 ] 5151 | 4689 | 4266
M8x22 ] 5181 | 4710 | 4269
M8x22 ] 5350 | 4894 | 4462
Mgx22 ] 5202 | 4854 | 4437
14 Mgx22 ] 25 15 M10 5284 | 4844 | 4426
16 MB8x22 ] 25 16 M0 5796 | 5267 | 41713
16 MB8x22 ] 25 16 M0 5797 | 5268 | 4774
16 M8x22 ] 2 16 mi0 5787 | 5260 | 4768
14 M10x25 8 51 28 M2 6.703 | 6.094 | 5524
14 M10x25 8 51 28 M2 6.703 | 6094 | 5524
14 M10x25 8 51 28 M2 6.791 | 6155 | 5565
14 M10x25 8 51 28 M2 6928 | 6317 | 5742
14 M10x25 8 51 29 M12 6917 | 6309 | 5737

B Mounting of Locking Assembly
The values for T, F,,, pw and p,, apply to Locking Assemblies

*B = 2| necessary More sizes on request

installed in oiled condition.

m Surface finishes
For shafts and hub bores
R, = 125 RMS

B Tolerances
We recommend the following mounting tolerances
shaft: k9-h9 - hub: N9-H9 - see table above
shaft: k11-h11 - hub: N11-H11
To avoid excessive deformations of the relatively thickwalled thrust
rings, the Locking Assembly should be located as symmetrically
as possible between shaft and hub bore. If the shaft is smaller
than nominal d, the bore should exceed nominal D to the same
extent and vice versa. The true running out quality is determined by
the direct centering between shaft and hub.

Location of several Locking Assemblies RfN 7012

stainless

If several Locking Assemblies are to be installed the trans-
mission values of the table can be added when the Locking
Assemblies are located within a distance of 4 x L.

Change of screw tightening torques

The Locking Assemblies are equipped with A2-70 grade
screws. A reduction of the screw tightening torque is possible.
(Please contact our specialists for assistance).

Auxiliary Threads
To facilitate removal, the front thrust rings have pullout
threads.

RfN 7012-IN stainless steel

49

yrrs




RINGFEDER® Locking Assemblies RfN 7012

stainless

Characteristics

As the industry standard the RfN 7012 stainless Locking Assembly is suitable for most
applications.

Transmission of high loads — Up to 4 RfN 7012 stainless Locking Assemblies can be usedin
series, the transmissible torques and axial forces are added. (Please contact our specialists for
assistance).

Bending moment and radial loads — Combined loads can be transmitted, please contact
our specialist for assistance.

Low risk to contamination — During tightening process the functional surfaces of the
device are under pressure, sufficient enough to keep contaminants out, thereby preserving
the integrity of the the device.

Adjustable transmission values — The locking screw torque can be changed giving a
corresponding change in transmission values. RfN 7012 stainless Locking Assemblies can
be tightened and released repeatedly.

Example applications:

sprockets, gears, coupling hubs, conveyor pulleys, idler wheels, sheaves



Transmissible
torques or
axial forces

Locking Assembly dimensions

Surface

Locking screws

min. Dy*

65
70
75
80
85
90
95
100
110
120

130

0
+0.0025

x 95 | 2559 | 4o 3740 o 0945 | 0787 | 1319 1136 | 34669
x 110 | 2756 | -0.003 | 4331 | +0003 | 1102 | 0945 | 1555 1655 | 47209
x 115 | 2953 4.528 1102 | 0945 | 1555 1766 | 47209
x 120 | 3150 4124 1102 | 0945 | 1555 1877 | 47209
x 125 | 3346 4921 1102 | 0945 | 1555 2210 | 53110
x 130 | 3543 5118 1102 | 0945 | 1555 2395 | 53110
x 135 | 3740 | 4o |5315| o 1102 | 0945 | 1555 2834 | 59748
x 145 | 3937 |-00035 | 5709 |+00035( 1209 | 1024 | 1.850 3395 67862
x 155 | 4.331 6.102 1299 | 1024 | 1850 37112 | 67125
x 165 | 4724 6.496 1299 | 1024 | 1850 | 4602 | 76714
+0 Bl]
x 180 | 5118 | ooy [TOBT| oopg | 1496 | 1338 | 2047 6201 95155

17986
16970
15375
15810
15085
13344
12474
15520
14069
16100
15230
16680
15520
14504
13924
14650
13344
14069
14650
13634
12764
13634
12909
13634
13634
12329
12764

Pressure | pN ENISO 4762-12.9
Rp0,2[psi]
36000 45000 62000| Tmax
Inch
7252 o177 | 2108 | 2032 | 12
7252 2177 | 2106 | 2032 | 129
7252 2177 | 2106 | 2032 | 12
7542 2332 | 2253 | 2111 | 15
7542 2332 | 2253 | 21 |
6817 252 | 2405 | 2365 | 204
6817 9522 | 2445 | 2365 | 218
8268 2884 | 2739 | 2629 | 3m
8268 2804 | 2739 | 2629 | 339
9428 3165 | 3031 | 2892 | 460
9428 3165 | 3031 | 2892 | 485
9428 3653 | 3497 | 3337 | 6%
9283 3640 | 3488 | 333 | 740
8703 3832 | 3682 | 3526 | 789
8703 3832 | 3682 | 3526 | 62
9428 4139 | 3963 | 3781 | 1055
8848 032 | 4152 | 3973 | 1159
o573 | 16 | mex22| 13 16 | 4602 | 444 | 4238 | 1425
w83 | 14 | woxs| 2% 28 | 533 | 5116 | 4885 | 2086
g8 | 14 | woxas| 2% 29 | 55 | 5306 | 5078 | 2235
g558 | 14 | m0x25| 2 31 | 577 | 5507 | 5278 | 2384
083 | 16 | woxs| 2% 33 | 6067 | 5813 | 5550 | 2895
8848 | 16 | Wox2| 2 34 | 626 | 5998 | 5740 | 3065
o573 | 18 | wmoxs| 2% 36 | 6597 | 6312 | 6018 | 3640
a8 | 14 | w2x3| 44 | 7062 | 6762 | 6451 | 4373
g03 | 14 | w2x3| 4 41 | 7422 | 7132 | 6830 | 4811
083 | 16 | wm2x30| 4 52 | 8008 | 7673 | 7327 | 5998
8123 | 20 | m2x35| 4 77 | 8506 | 81%6 | 7873 | &12

11314

Mounting of Locking Assembly
The values for T, F,,, pw and p,, apply to Locking Assemblies

*B = 2| necessary

More sizes on request

installed in oiled condition.

Surface finishes
For shafts and hub bores
R, = 125 RMS

Tolerances

We recommend the following mounting tolerances

shaft: k9-h9 - hub: N9-H9 - see table above

shaft: k11-h11 - hub: N11-H11

To avoid excessive deformations of the relatively thickwalled thrust
rings, the Locking Assembly should be located as symmetrically
as possible between shaft and hub bore. If the shaft is smaller
than nominal d, the bore should exceed nominal D to the same
extent and vice versa. The true running out quality is determined by
the direct centering between shaft and hub.

Location of several Locking Assemblies RfN 7012

stainless

If several Locking Assemblies are to be installed the trans-
mission values of the table can be added when the Locking
Assemblies are located within a distance of 4 x L.

Change of screw tightening torques

The Locking Assemblies are equipped with A2-70 grade
screws. A reduction of the screw tightening torque is possible.
(Please contact our specialists for assistance).

Auxiliary Threads
To facilitate removal, the front thrust rings have pullout
threads.

RfN 7012 stainless steel

51

yrrs




RINGFEDER® Locking Assemblies RfN 7061

stainless

Characteristics
B=2I

Self-centering 2-piece Locking Assemblies
for medium torques. During installation,
minor axial displacement of the hub occurs ——— |
in opposite direction of the screw head. Due
to the small number of screws, cost savings >
during installation are insured. For disassem- a
bly only few release screws are required. Q

Locking Assembly RfN 7061 Typical instal-

We recommend the following mounting lation
|

tolerances: shaft: h8 - hub: H8 - see

adjacent table

Locking Assembly RfN 7061 - Dimensions




Locking Assembly dimensions

Transmissible
torques or
axial forces

Surface
Pressure

Locking screws
DIN EN ISO 4762-A2-70
Thread

dg

mm Inch Ib-ft lbs psi n mm
6x16 0.236 0.630 0433 0.531 22 202 nor 2756 3 M25
x17 0.276 0.669 0433 0.531 22 202 6092 2466 3 M25
8x18 0315 0.709 0433 0531 30 202 5367 2466 3 M25
9x20 0.354 0.787 0512 0610 44 210 5367 2466 4 M25
10x20 0.39%4 0787 0512 0610 44 210 4786 2466 4 M25
11x22 0433 +0 0.866 0 0512 0610 52 210 4351 2176 4 M25
12x22 0472 -0.001 0.866 +0.001 0512 0610 5.2 210 3m 2176 4 M25
14x26 0.551 1.024 0,669 0.787 96 1 4061 2176 4 M3
15x28 0.591 1102 0.669 0.787 10 a1 3m 2031 4 M3
16x 32 0630 1.260 0.669 0.827 27 81 6527 3336 4 M4
17x35 0.669 1.378 0.827 0.984 22 81 4932 2466 4 M4
18x 35 0.709 1.378 0.827 0.984 2 81 464 2466 4 M4
19x 35 0.748 1.378 0.827 0.984 25 81 4496 2466 4 ma
20x38 0.787 1496 0.827 1.024 3] 1237 6527 3481 4 M5
22x40 0.866 1575 0.827 1.024 45 1237 5947 3336 4 M5
x4 0945 1.850 1.024 1.260 Il 1799 6382 3336 4 M6
25x47 0.984 0 1.850 0 1.024 1.260 I 1799 6237 3336 4 M6
28 x50 1102 00015 1.969 00015 1.024 1.260 155 3312 8268 460 4 M6
30x55 1.181 2.165 1.024 1.260 162 3312 7832 4206 ] M6
32x55 1.260 2.165 1.024 1.378 177 3312 1252 4206 6 M6
35x 60 1378 2.362 1142 1.378 258 4496 977 46M 8 M6
38 x 65 1496 2.559 1142 1.378 280 4496 1397 4206 8 M6
40x 65 1.575 2.559 1142 1.378 295 4496 6962 4206 8 M6

RfN 7061 stainless steel

*B = 2| necessary

More sizes on request

53 .




RINGFEDER® Locking Assemblies

Characteristics

Specially small dimensioned self-centering
Locking Assembly without axial displace-
ment. As the locking screws are located
out of the actual clamping area and the
pressures are relatively low, the hub can be
designed economically small.

We recommend the following mounting
tolerances: shaft: h8 - hub: H8 - see
adjacent table

RfN 7110

stainless

NS

H—1}

AN

Locking Assembly RfN 7110 - Dimensions




Locking Assembly dimensions Transmissible Surface Locking screws

(I 00 @1 Pressure DIN EN ISO 4762-A2-70
axial forces

Thread
Cy D, dg

!l
+0.0015

7 | .

/ g 4 :
f FO More sizes on request

SO . 4

RfN 7110 stainless steel



RfN 8006

stainless

Locking Element RINGFEDER® RfN 8006 stainless - Typical installation

Slit

V-belt pulley




Locking Assembly dimensions Transmissible
torques or
axial forces

d4
Inch psi Ibs 10-3 Inch
0.236 035 | -0 0177 | 0146 | 0.107 832 . 331 0.240 0.350
10 | 0.276 0.394 |+0.0006| 0177 | 0.146 | 0.124 989 i 3.08 0280 0380
11| 0315 +IJ.-UU(]B 0433 0177 | 0146 | 0.140 124 | 331 0319 0429
12 | 0.354 0472 0177 | 0.146 | 0.163 1281 ] 3.75 0.358 0469
| = 10 x 13| 0.39% 0512 0177 | 0146 | 0.180 | 1551 | 1416 41 252 | 0079 | 0079 | 0118 | 0.118 397 0.398 0508 12
- 1M x 14| 0433 0 0.551 +0.§UU7 0177 | 0146 | 0.198 | 1686 | 1551 47 210 | 0079 | 0079 | 0.118 | 0.118 44 0437 0547 8.6
_"'r _ 12 x 15| 0472 -0.3004 0.591 0177 | 0146 | 0215 | 1551 | 1686 59 300 | 0079 | 0079 | 0.118 | 0.118 4.85 0476 0.587 11
v o 13 x 16| 0512 0630 0177 | 0146 | 0234 | 1439 | 1844 11 326 | 0079 | 0079 | 0118 | 0118 501 0516 0.626 137
L'I" 14 x 18| 0551 0 |0709 0.248 | 0209 | 0361 | 2518 | 2833 18 504 | 0118 | 0118 | 0157 | 0197 108 0.555 0.705 202
15 x 19| 0591 +0.0007 | 0.748 0.248 | 0209 | 0388 | 2406 | 3035 136 540 | 0118 | 0118 | 0157 | 0197 ni 0.594 0.744 24
16 x 20| 0630 0.787 0248 | 0209 | 0412 | 2211 | 3237 153 574 | 0118 | 0118 | 0157 | 0197 121 0634 0.783 29
17 x 21| 0669 0.827 0248 | 0209 | 0439 | 2136 | 3440 171 612 | 0118 | 0118 | 0157 | 0197 128 0673 0.823 33
18 x 22| 0709 0.866 0.248 | 0209 | 0485 | 2046 | 3642 195 647 | 0118 | 0118 | 0157 | 0197 135 0.713 0.862 38
19 x 24| 0748 0.945 +0._[)0[]l]8 0248 | 0209 | 0490 | 2833 | 3844 212 682 | 0118 | 0118 | 0157 | 0197 172 0.756 0937 54
20 x 25| 0787 0984 0.248 | 0209 | 0516 | 2698 | 4047 24 79 | 0118 | 0118 | 0157 | 0.197 181 0.795 0976 61 \'
22 x 26| 0866 | +p 0 |1024 0.248 | 0209 | 0567 | 2023 | 4451 28 91 0118 | 0118 | 0157 | 0.197 159 0874 1.016 58 \'l.
24 x 28| 0945 |-0.0005|+0.0008| 1.102 0.248 | 0209 | 0620 | 1866 | 4856 34 863 | 0.118 | 0118 | 0157 | 0.197 174 0953 1.094 7 \
25 x 30| 0984 1181 0.248 | 0209 | 0645 | 2226 | 5058 3 899 | 0118 | 0118 | 0157 | 0197 21 0992 1173 100 \
28 x 32| 1102 1.260 0.248 | 0209 | 0722 | 1664 | 5665 46 1007 | 0118 | 0.118 | 0157 | 0.197 198 1110 1.252 100 I'-.I
30 x 35| 1181 1.318 0.248 | 0209 | 0.773 | 1811 | 6070 53 1079 | 0118 | 0.118 | 0157 | 0.197 265 1.189 1.370 148 \
32 x 36| 1.260 1417 0248 | 0209 | 0826 | 1754 | 6475 60 1151 | 0118 | 0118 | 0157 | 0197 221 1.268 1.409 131
3% x 40| 1378 1575 | -0 0276 | 0236 | 1.021 | 2271 | 8004 81 1421 | 0118 | 0118 | 0157 | 0197 4.1 1.386 1.567 199
3% x 42| 1417 1654 | +0001 | 0276 | 0.236 | 1051 | 2698 | 8228 87 1475 | 0118 | 0118 | 0.157 | 0197 441 1.425 1,646 259
38 x 44 149 | +0 0 | 1732 0.276 | 0236 | 1.110 | 2473 | 8701 96 1547 | 0118 | 0.118 | 0.157 | 0.197 441 1.504 1724 290
40 x 45| 1575 |-00006 | +0001 | 1772 0315 | 0260 | 1.285 | 3147 | 10117 17 1790 | 0118 | 0157 | 0197 | 0.236 441 1.583 1.764 252
42 x 48| 1.654 1.890 0315 | 0260 | 1.349 | 3507 | 10567 129 1871 | 0118 | 0157 | 0197 | 0.236 66 1.661 1.882 342
45 x 52| 1112 2087 0394 | 0339 | 1.883 | 5868 | 14838 194 2626 | 0118 | 0157 | 0197 | 0.236 110 1.780 2.039 442
48 x 55| 1.890 2165 0.394 | 0339 | 2009 | 5531 | 15737 220 2806 | 0.118 | 0157 | 0197 | 0.236 110 1.898 2157 510
5 x 57| 1.969 2.204 0.394 | 0339 | 2093 | 5283 | 16412 239 2914 | 0118 | 0157 | 0197 | 0.236 110 1.976 2.236 559
5 x 62| 2165 240 0394 | 0339 | 2302 | 4901 | 17986 289 3201 | 0118 | 0157 | 0.197 | 0.236 110 2113 2433 685
5% x 64| 2.206 2520 | -0 0472 | 0409 | 2835 | 6610 | 22257 363 3957 | 0118 | 0157 | 0.197 | 0.276 154 2213 2512 97
60 x 68| 2362 2677 | +0.0018| 0472 | 0409 | 3036 | 6160 | 23831 | 416 | 4227 | 0118 | 0157 | 0197 | 0276 154 2370 | 2669 | 929
63 x 71| 2480 2195 0472 | 0409 | 3188 | 5913 | 24955 460 4460 | 0118 | 0157 | 0197 | 0.276 176 2488 2187 1033
65 x 73| 2559 -0.;318 +0.-[;]01B 2874 0472 | 0409 | 3291 | 5710 | 25854 490 4604 | 0118 | 0157 | 0197 | 0.276 176 2567 2.866 1106
0 x 79| 275 3110 0551 | 0480 | 4157 | 6969 | 32599 661 5755 | 0.118 | 0197 | 0236 | 0.276 43 2.768 3.098 1446
T x 80| 279 3150 0551 | 0480 | 4.216 | 6969 | 33049 685 5863 | 0.118 | 0197 | 0.236 | 0.276 243 2.807 3138 1490
75 x 84| 2953 3.307 0551 | 0480 | 4453 | 7779 | 34847 761 6187 | 0118 | 0197 | 0.236 | 0.276 265 2.965 3.295 1652
80 x 91| 3150 3583 0669 | 0591 | 5840 | 10791 | 45638 | 1068 8094 | 0157 | 0197 | 0.236 | 0315 265 3.161 357 2301
85 x 96| 3346 3780 [ -0 0669 | 0591 | 6.206 | 10252 | 48561 | 1204 8633 | 0157 | 0197 | 0.236 | 0315 L 3.358 3.768 2619
90 x 101 | 3543 3976 | +0.0022| 0669 | 0.591 | 6570 | 9757 | 51484 | 1351 9173 | 0157 | 0197 | 0236 | 0315 L4 3.555 3.965 2951
95 x 106 3740 | +p 0 | 4173 0669 | 0591 | 6936 | 9263 | 54406 | 1505 9712 | 0157 | 0197 | 0236 | 0315 485 3752 4161 3305
100 x 114 | 3837 |-0.0022 | +0.0022| 4.488 0.827 | 0736 | 9.102 | 13647 | 71268 | 2077 | 12590 | 0.157 | 0.236 | 0.276 | 0.354 882 3.948 4476 4691
110 x 124 | 4331 4.882 0827 | 0736 | 10.011 | 14838 | 78462 | 2508 | 13849 | 0157 | 0236 | 0276 | 0354 882 4343 4.870 5643
120 x 134 | 4724 5.276 0.827 | 0736 | 10.921 | 13534 | 85432 | 2980 | 15108 | 0.157 | 0236 | 0276 | 0354 1103 4136 5.264 6771
130 x 148 | 5118 0 0 5.827 +0.-00[]25 1102 | 0996 | 16.008 | 21628 | 125450 | 4750 | 22302 | 0.197 | 0276 | 0354 | 0433 1874 5134 5811 | 10231
140 x 158 | 5512 _03025 +l].-l]025 6.220 1102 | 0996 | 17.239 | 20009 | 134892 | 5518 | 24101 | 0.197 | 0276 | 0.354 | 0433 2007 5,528 6205 | 11942
150 x 168 | 5.906 6614 1102 | 0996 | 18470 | 18997 | 144559 | 6314 | 25719 | 0.197 | 0276 | 0354 | 0433 2138 5.921 6.598 | 13750
* Only slit. For slit Locking Elements Fq is eliminated in the calculation. More sizes on request
57

RfN 8006 stainless steel



Special Solutions




Flange Couplings

q|

L1 #ﬂ"uh:us 11pﬁl‘l lﬂ | 111

Ll



Special Solutions

. Special Solution Locking Assemblies

Where the use of standard Locking Assemblies is not sufficient we develop special solutions
optimized to specific customer requirements so that the parts are ideal for the specific appli-
cation. In this way it is possible to have keyless connections for applications which were not
previously possible.

\ RfN 7006.2

L)




Special Solution Flange Couplings

Flange Couplings are designed by us for the specific situation in order to offer the best
possible solution for the transmitted torque, masses etc.

rg-’-f

. wr{ﬁ;

61




RfN 7012/RfN 7012-IN

___M

If the rear thrust ring does not automatically release, the screws have to be turned out
by a few threads. Light tapping against the screw heads causes the rear thrust ring
to spring backwards.

7

Should the front thrust ring jam, it is released in a similar way. The marked screws
(washer) are removed from the pullout threads of the front thrust ring. The front thrust
ring can be released and a Locking Assembly which may be deep in the hub bore can
be removed by corresponding screws.

N B~ O3

de

Locking Assembly RfN 7012-IN. Part description.

1 rear thrust ring

"l 2 outerring, slit
3 inner ring, slit

| 4 front thrust ring
b washer
6 locking screw




Installation and removal instructions

Locking Assembly RfN 7012 / RfN 7012-IN,
standard and stainless steel

Installation

Since the force is transmitted by contact pressure and fric-
tion between functional surfaces, condition of contact sur-
faces and proper tightening of the locking screws are of
great importance.

1. All contact surfaces, including screw threads and Screw
head bearing surfaces, must be clean and slightly oiled. In
this condition, the shaft, hub and Locking Assemblies are
to be assembled. (Do not use Molybdenum Disulphide!)

2.Tighten locking screws lightly and align hub.

3. Tighten screws evenly in diametrically opposite sequence
and do this in two or three stages up to the indicated
tightening torque T,.

4.Re-check tightening torque by applying it to all screws
all the way around. If all screws have reached the max.
tightening torque T,, the assembly is completed.

Iy /
¥/ / NS
v/ ' o
7 F L
/A f J e i
,—;—"{/ .'/ "{ 7 ,f g, h‘-.\'\
7 / / / LN
// ;’; / ~N

T S

REINE]

RINGFEDER® Locking Assemblies RfN 7012 are self-releas-
ing. The taper of the individual rings is such that the inner
and outer rings spring apart when the pressure is reduced
by loosening the screws.

The washers under marked screws protect the auxiliary
(removal) threads against damage; these washers must be
replaced after having been used several times.

If force is needed to extract a Locking Assembly that has
already been loosened (e. g. if the Locking Assembly has to
be pushed against the weight of a heavy hub), any type of
removal device may be used, but the screws must only be
loosened and not screwed out too far. Thus a removal device
can be used, provided the forces applied are kept low.

The auxiliary threads have only about 3-5 effective threads
and are not cut right through. Do not use these holes for jack
screws.

A previously used locking device may be reused only after

visual inspection for surface damage and being thoroughly
cleaned and re-lubricated!

-

RfN 7012 / RfN 7012-IN

63



RfN 7110

stainless

RINGFEDER® Locking Assemblies

/

Pulley mounted using one Locking Assembly RINGFEDER® RfN 7110.

IW_

Bevel gear mounted with one Locking Assembly RfN 7110. During mounting the axial
position of the bevel gear remains unchanged.




Installation and removal instructions

Locking Assembly RfN 7110 stainless

Installation

Since the force is transmitted by contact pressure and
friction between functional surfaces, the condition of the
contact surfaces and proper tightening of the locking screws
are of great importance (see point 1.).

1. All contact surfaces, including screw threads and screw
head bearing surfaces, must be clean and slighty oiled.
(Do not use Molybdenum Disulphide!). In this condition the
shaft, hub and Locking Assembly are to be assembled.

2. Tighten locking screws lightly and align hub.

3. Tighten screws evenly in diametrically opposite sequence
and do so in two or three stages up to the indicated
tightening torque.

4.Re-check tightening torque by applying it to all screws
all the way around. If all screws have reached the max.
tightening torque T,, the assembly is completed.

H—7 / [/
';:'I r I\
v/ / e
r'xff r/ f 4 f.l
M Ia" // ?:..‘-
z'fl ¥ i ;'rl ( e
)—’"/ ! ' e
.-":E:'.{I af"x ‘f

Jl‘l {

REE]

The Locking Assemblies RfN 7110 are to be removed in the
following sequence:

1. Loosen all screws by a few turns.

2. Remove the screws adjacent to each threaded jacking hole
and screw them into these bores.

3. Tighten the jacking screws, starting with the positions fur-
thest away from the slit first, in several stages until the con-
nection is released.

4. The connection can then either be readjusted or disas-
sembled. Remove the jacking screws only after the Lock-
ing Assembly has been removed from the hub.

Dismount and clean dirty undamaged Locking Assemblies
before re-use and slightly oil them as described in point 1 of
the mounting instructions.

AN 7

RfN 7110

65



— - "‘.u

RINGFEDER® Locking Assemblies RfN 7061

stainless

Installation of a Locking Assembly RfN 7061



Installation and removal instructions

Locking Assembly RfN 7061

Installation

Since the force is transmitted by contact pressure and
friction between functional surfaces, the condition of the
contact surfaces and proper tightening of the locking screws
are of great importance (see point 1.).

1. All contact surfaces, including screw threads and screw
head bearing surfaces, must be clean and slighty oiled.
(Do not use Molybdenum Disulphide!). In this condition the
shaft, hub and Locking Assembly are to be assembled.

2.Tighten locking screws lightly and align hub.

3. Tighten screws evenly in diametrically opposite sequence
and do so in two or three stages up to the indicated
tightening torque.

4.Re-check tightening torque by applying it to all screws
all the way around. If all screws have reached the max.
tightening torque T,, the assembly is completed.

I/ /
/ / NS
:" J,-‘/ J J,r" M
."?. .-'(r .-"r --"‘l -': -x‘_x
VS / // A
.ﬁ; 7 / 7 r';. ALY *:M\“a
(o / f oy
J?.f / / i “ "“‘x
"jf / ,r"{ A | \‘\\,
0 4 / £ ™SO IS

REE]

The Locking Assemblies RfN 7061 are to be removed in the
following sequence:

1. Loosen all screws by a few turns.

2. Remove the screws adjacent to each threaded jacking hole
and screw them into these bores.

3. Tighten the jacking screws, starting with the positions
furthest away from the slit first, in several stages until the
connection is released.

4. The connection can then either be readjusted or disas-
sembled. Remove the jacking screws only after the Lock-
ing Assembly has been removed from the hub.

Dismount and clean dirty undamaged Locking Assemblies
before re-use and slightly oil them as described in point 1. of
the installation instructions.

-

Ta
\u\\ ~“7 67

RfN 7061




RINGFEDER® Locking Assemblies RfN 7013

Installation of a Locking Assembly RfN 7013.0/7013.0-IN

e

Installation of a Locking Assembly RfN 7013.1/7013.1-IN

[2

Removal of a Locking Assembly RfN 7013.0/7013.0-IN

N

I\

| \ Removal of a Locking Assembly RfN 7013.1/7013.1-IN

\
N




Installation and removal instructions

Locking Assembly RfN 7013.0 / RfN 7013.0-IN,
RfN 7013.1 / RfN 7013.1-IN standard and stain-
less steel

Installation

Since the force is transmitted by contact pressure and fric-
tion between functional surfaces, condition of contact sur-
faces and proper tightening of the locking screws are of great
importance.

1. All contact surfaces, including screw threads and screw
head bearing surfaces, must be clean and slightly oiled.
(Do not use Molybdenum Disulphide!) In this condition, the
shaft, hub and Locking Assemblies are to be assembled.

2. Tighten locking screws lightly and align hub.

3. Tighten screws evenly in diametrically opposite sequence
and do this in two or three stages up to the indicated
tightening torque (Ta).

4.Re-check tightening torque by applying it to all screws
all the way around. If all screws have reached the max.
tightening torque Tas the assembly is completed.

s, F Fi
y/, - AJ
/ I J iy
/A | r 4 e
&.iz / ,'K,, / “\‘\.““‘m
74 / ff) i ey | o
'l }f’ / “\\,

\\““:\\ o

REE]

The Locking Assemblies RfN 7013 are to be removed in the
following sequence:

1.Loosen all screws by a few turns.

2.Remove the screws adjacent to each jacking hole and
screw them into these bores pressing off the outer ring.
The connection is then released.

3. The connection can be either readjusted or disassembled.
Remove the jack screws only after the Locking Assembly

has been taken out of the hub.

Remove and clean dirty undamaged Locking Assemblies
before re-use.

-

RfN 7013

69



RfN 7014

T/
i==3

s

Locking Assembly not tightened

NN
J_%r

Locking Assembly with a screw in one of the realease threads




Installation and removal instructions

Locking Assembly RfN 7014

Installation

Since the force is transmitted by contact pressure and fric-
tion between the functional surfaces, the condition of the
contact surfaces and correct tightening of the locking screws
are of great importance.

1.When originally packed, these Locking Assemblies are
fitted with small metal packing pieces located in the slits of
the inner and outer rings. These are for shipping purposes
only and MUST be removed prior to installation.

2. All contact surfaces, including screw threads and screw
head bearing surface, must be clean and slightly oiled (Do
not use Molybdenum Disulphide!). In this condition, the
shaft, hub, and Locking Assemblies are to be assembled.

3. Tighten locking screws lightly and align hub.

4.Tighten screws evenly in diametrically opposite sequence
and do this in two or three stages up to the indicated final
tightening torque (T,).

5. Re-check tightening torque by applying it to all the screws.
If all screws have reached the max. tightening torque T,
the assembly is completed.

i F Fi
i r s
y_/S '
."?. .-'(r .-"r --"‘l F -x‘_x
j:::.'l.- F / .-'r;," }r'{-.'_:‘- 3
r o & -y
I—;;"_/ .*'a( F - ,f \h\.:\\“\
4 / 'y / NN
.-’Jllf‘;( ;J ;"‘I{ A \‘\\,
N / / 4 ™. 3

REE]

The Locking Assemblies RfN 7014 are to be removed as
follows:

1.Loosen all screws by a few threads.

2.Remove the screws adjacent to each jacking hole and
screw them into these holes. Since the rear thrust ring
rests against either shaft or hub shoulder, the jack screws
will automatically push apart both tapers, thus releasing
the connection.

3. The connection can be either readjusted or disassembled.
Remove the jack screws only after the Locking Assembly
has been taken out of the hub.

Used Locking Assemblies must be replaced and slightly oiled
prior to reinstallation. Note that the release threads of the front
thrust ring have to be positioned opposite to undrilled spaces of
the rear thrust ring. These threads are used for removal.

-

S
/L‘x\\'\.\\\ “T 5

RfN 7014




_ R e
RINGFEDER® Locking Assemblies RfN 7015

Figure 1: Locking Assembly RfN 7015. Part description.

Figure 2: Removal front thrust ring

Figure 3: Removal rear thrust ring




Installation and removal instructions

Locking Assembly RfN 7015.0, RfN 7015.1

Installation

Since the force is transmitted by contact pressure and fric-
tion between functional surfaces, condition of contact sur-
faces and proper tightening of the locking screws are of
great importance (see point 1).

1. All contact surfaces, including screw threads and screw
head bearing surface, must be clean and slightly oiled. (Do
not use Molybdenum Disulphide!) In this condition, the
shaft, hub and Locking Assemblies are to be assembled.

1.1 Unscrew all locking screws far enough so that only few
threads are engaged in the rear thrust ring. For shipping
purposes, these screws have been screwed in quite
deep.

1.2 With larger Locking Assemblies, it is advantageous to in-
sert several locking screws into the corresponding threads
of the front thrust ring according to Fig. 2 and push against
them.

2. After the Locking Assembly is placed in position, slightly
tighten all locking screws (screwed into the rear thrust
ring) and make final alignment and adjustment of the
connection.

3. Tighten screws evenly in diametrically opposite sequence
and do this in two or three stages up to the indicated
tightening torque (T ).

4. Re-check tightening torque by applying it to all screws
all the way around. If all screws have reached'the max.
tightening torque T,, the assembly is completed:

Used Locking Assemblies have to be cleaned and slightly
oiled prior to instaﬂation an‘d re-assembled according to Fig. 1.

/ When re- assembllng, it ls important to maké sure that all

threaded holeé of the rear thrust ring, (1) are in line with
the holes mfweb of inner ring (3) and/f front thrust ring (4).
Threaded, fémqval hoies in front thrust rlng must be located
opposﬂe‘H blank spajc'es in web of |nne|;-'r|ng, the threaded
removal holes in web of inner ring must be jocated'ogposﬂe
blan}{»%daces of/rear thrust ring, s;e Fig. 1-

7/ ,/\A

AN/

e \\\'\

\\\,x

REE]

The Locking Assemblies RfN 7015 are to be removed as
follows:

1. Loosen all screws by a few turns.

2. Remove the screws adjacent to each threaded bore and
screw them into these bores.

2.1 The front thrust ring is released by having the jack screws
pressed against the web of the inner ring (see Fig. 2).

2.2 The rear thrust ring is released by having the jack screws
inserted in the threaded bore of the inner ring web and
thus pushing it out (Fig. 3).

3. Pull or push hub and Locking Assemblies off the shaft.
The jack screws should be removed only after the Locking
Assembly has been taken out of the hub.

Disassemble and clean dirty,
Assemblies before re-use.

undamaged Locking

m\\ o 73

RfN 7015




RINGFEDER® ocking Elements RfN 8006/GSA

Inner ring

—— QOuter ring

Locking Element RfN 8006 /GSA - View and section




Locking Element RfN 8006/GSA

Installation

Since the force is transmitted by contact pressure and
friction between functional surfaces, condition of contact
surfaces and proper tightening of the locking screws are of
great importance (see point 1).

1. All contact surfaces, including screw threads and screw
head contact surface, must be clean and slightly oiled.

2. Fit the parts in the following order:
A = Hub
Insert the Locking Element rings (B) according to the
assembly drawing (both parts must be easy to install and
must not jam under any circumstances).
C = Insert clamp plate (spacer sleeve if necessary) or
clamp plate with collar. Ensure that both parts are easy to
move.
D = Locking screws

Carefully oil the locking screws before assembly. This
applies in particular to the screw head seat. ATTENTION:
Do not use molybdenum disulphide! The screws must turn
easily and to an adequate depth. Do not use spring washers
or serrated locking washers.

3. Tighten locking screws lightly and align hub.

4.Tighten screws evenly in diametrically opposite sequence
and do this with a torque wrench in several stages up to
the indicated tightening torque (TA).

5. Re-check tightening torque by applying it to all screws
all the way around. If all screws have reached the max.
tightening torque T,, the assembly is completed.

6. Check distance x: =t
The thrust-ring-must. never contact 'the face‘of the hub.

The gap between-thrust ring and hub'face should ‘be ‘as |

/ uniform as possible. f J

! y :P

o

r o 4

Removal

1.Loosen all screws one after the other in several stages.

2. Remove the flange.

3. Take out the locking elements — the Locking Elements re-

lease automatically after the screws have been loosened. If
not, light tapping is enough to start the releasing process.

RfN 8006 / GSA



Fax Inquiry

To get a design proposal for RINGFEDER® shaft-hub-connections

RINGFEDER POWER TRANSMISSION USA Corp., P.O. Box 691 Westwood - NJ 07675

Fax +1 201 664 6053

From

Company
attn.
Address
Phone

E-Mail

Dept.

Fax

Please have someone contact me at the following number or email address:

To make it easier for our technical staff and to avoid errors or mistakes your inquiry should include the following information:

Information for technical service

Expected maximum loads:

Max. torque T  max
Max. bending moment M max.
Max. axial load F max
Max. radial load Fr max.
Dimensions, materials:

Shaft diameter dw

In case of hollow shaft, internal diameter dg
Speed

Hub outside diameter DN

Hub width B

Hub material yield strength RpO.QN
Shaft material yield strength Rpo.2w
Ambient temperature Temp.

Additional information:

lb-ft
lb-ft
lbs
lbs

Inches
Inches
rpm

lbs
Inches
psi

psi
degree F

Please send a drawing or sketch together with your inquiry!

RINGFEDER PT USA CORPORATION - 165 Carver Avenue, P.O. Box 691 Westwood, NJ 07675, USA
Toll Free: +1 888 746-4333 - Phone: +1 201 666 3320 - Fax: +1 201 664 6053

76

E-mail: sales.usa@ringfeder.com



Delivery Program

“ RINGFEDER

Locking Devices

Locking Elements Shrink Discs® Smart-Lock

Damping
Technology

DEFORM plus® Fluid Elastomeric Damper
DEFORM plus® R

a5

Special Solutions

Locking Assemblies Flange Couplings

GERWAH

Couplings

Magnetic Couplings Metal Bellows Couplings Servo-Insert Couplings

RING-flex® - torsionally Safety Couplings Line Shafts
rigid Disc Couplings

77




78




79



RINGFEDER POWER TRANSMISSION USA CORPORATION - 165 Carver Avenue, PO. Box 691 Westwood, NJ 07675, USA
Toll Free: +1 888 746-4333 - Phone: +1 201 666 3320 - Fax: +1 201 664 6053 - E-mail: sales.usa@ringfeder.com

RINGFEDER POWER TRANSMISSION www.ringfeder.com



